
Ques 1. ANS (B) Solution:
संख् 12, 18. 21 एवं 30 क् ल.स. = 420 अत: छोटी से छोटी संख् =
420k जह्ँ k = 1, 2, 3, ------ k = 3 लेने पर संख् = 420 × 3 = 1260
LCM of numbers 12, 18, 21 and 30. = 420 Hence, smallest
number = 420k where k = 1, 2, 3, ------ taking k = 3, number =
420 × 3 = 1260
Ques 2. ANS (A) Solution:
म्न् संख् x है,
प््न्स्र, 12 से ववभ्वजत करने पर,
x/12 =35
x = 35 × 12
x = 420
वह संख् = 420
420 को 21 से ववभ्वजत करने पर
420/21 =20
Let the number be x,
According to the question, on dividing by 12,
x/12=35
x = 35 × 12
x = 420
That number = 420
Dividing 420 by 21
420/21=20
Ques 3. ANS (A) Solution:

Ques 4. ANS (D) Solution:
संख् 25, 35, 40 एवं 30 क् म.स. 25 = 5 × 5
35 = 5 × 7
40 = 5 × 8
30 = 5 × 6
म.स. = 5 अत: अभीष संख् 5 होगी।
HCF of numbers 25, 35, 40 and 30. 25 = 5 × 5
35 = 5 × 7
40 = 5 × 8
30 = 5 × 6
M.S. = 5 hence the required number will be 5.
Ques 5. ANS (A) Solution:

Ques 6. ANS (D) Solution:

यवि वकसी िी गई संख् के अंकों क् जोड़ ‘3’ से पूर्तय् ववभ्वजत हो, तब
वह संख् भी ‘3’ से ववभ्वजत होगी। 276x1, 3 से ववभ्ज है। 2 + 7 + 6
+ x + 1 = 16 + x x के संभ्ववत म्न 2, 8, 5 रखने पर संख् 3 से
पूर्णप से ववभ्वजत होगी। अतः x के संभ्ववत म्नों क् योग = 2 + 8 + 5
= 15
If the sum of digits of a given number is completely divisible by
‘3’, then that number will also be divisible by ‘3’. 276x1 is
divisible by 3. 2 + 7 + 6 + x + 1 = 16 + x If the possible values
of x are 2, 8, 5, the number will be completely divisible by 3.
Hence, sum of possible values of x = 2 + 8 + 5 = 15
Ques 7. ANS (D) Solution:

Ques 8. ANS (D) Solution:

Ques 9. ANS (C) Solution:
2, 4, 6 क् ल.स.= 12
अभीष संख् 12 क् घन = (12)³ = 1728
LCM of 2, 4, 6 = 12
Cube of required number 12 = (12)³ = 1728
Ques 10. ANS (D) Solution:
11 से ववभ्जत् क् वनयम– यवि वकसी संख् के सम स्नों पर आए अंकों
के योग और ववषम स्नों पर आए अंकों क् योग क् अनर 0 हो य् 11 से
ववभ्वजत होत् हो तो वह संख् भी 11 से ववभ्वजत होगी। संख् - x 4 4 6
1 x + 4 + 1 – ( 4 + 6) = 0 x + 5 – 10 = 0 x = 5
Rule of divisibility by 11 – If the difference between the sum of
the digits at even places of a number and the sum of the digits
at odd places is 0 or is divisible by 11, then that number will
also be divisible by 11. Number – x 4 4 6 1 x + 4 + 1 – ( 4 + 6)
= 0 x + 5 – 10 = 0 x = 5
Ques 11. ANS (C) Solution:
यवि वकसी संख् के सभी अंकों क् योग 9 से ववभ्ज हो तो वह संख् भी
9 से पूर्त: ववभ्ज होगी। अतः ववकल ज्ंचने पर -
(1) 56112 के अंकों क् योग = 15 (x)
(2) 89445 के अंकों क् योग = 30 (x)
(3) 49653 के अंकों क् योग = 27 (√)
(4) 58556 के अंकों क् योग = 29 (x)
अतः 9 से ववभ्ज संख् = 49653
If the sum of all the digits of a number is divisible by 9, then
that number will also be completely divisible by 9. So after
checking the options -
(1) Sum of digits of 56112 = 15 (x)
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(2) Sum of digits of 89445 = 30 (x)
(3) Sum of digits of 49653 = 27 (√)
(4) Sum of digits of 58556 = 29 (x)
Hence number divisible by 9 = 49653
Ques 12. ANS (A) Solution:

Ques 13. ANS (A) Solution:
4, 5, 6 व 7 क् ल़ स़ = 420 अभीष संख् = 420 + 1 = 421 अत: 421
को 4, 5, 6 व 7 से ववभ्वजत करने पर प्ेक िश् मे शेष 1 प्र होग्।
LCM of 4, 5, 6 and 7 = 420 Required number = 420 + 1 = 421
Hence, on dividing 421 by 4, 5, 6 and 7, the remainder will be 1
in each case.
Ques 14. ANS (B) Solution:

Ques 15. ANS (C) Solution:

Ques 16. ANS (A) Solution:
6 से ववभ्वजत होने क् वनयम ⇒ यवि कोई िी गई संख् 2 और 3 से
अलग-अलग ववभ्वजत हो ज्ये, तब संख् 6 से भी ववभ्वजत होगी।
2 से ववभ्जत् क् वनयम ⇒ यवि िी गयी संख् क् इक्ई अंक 2 से
ववभ्वजत है तो वह संख् 2 से ववभ्वजत होगी।
3 से ववभ्जत् क् वनयम ⇒ यवि िी गयी संख्यं के अंको क् योगफल 3
से ववभ्वजत है तो वह संख् 3 से ववभ्वजत होगी।
1+2+3+7+8 = 21
= 21/3 = 7
अतः संख् 12378, 6 से भ्ज है।
Rule of division by 6 ⇒ If a given number is divisible by 2 and 3
separately, then the number will also be divisible by 6.
Law of divisibility by 2 ⇒ If the unit digit of a given number is
divisible by 2, then that number will be divisible by 2.
Law of divisibility by 3 ⇒ If the sum of the digits of the given
numbers is divisible by 3, then that number will be divisible by
3.

1+2+3+7+8 = 21
= 21/3 = 7
Hence the number 12378 is divisible by 6.
Ques 17. ANS (C) Solution:

Ques 18. ANS (C) Solution:

Ques 19. ANS (C) Solution:

Ques 20. ANS (D) Solution:

Ques 21. ANS (C) Solution:

Ques 22. ANS (A) Solution:

Ques 23. ANS (D) Solution:



12 से ववभ्ज संख् को 3 तथ् 4 से ववभ्ज होन् च्वहए। 3 से ववभ्ज
संख् के अंकों क् योग भी 3 से ववभ्ज होन् च्वहए। 4 से ववभ्ज संख्
के अननम िो अंक 4 से ववभ्ज होन् च्वहए। ववकल (d) से- तब 8 + 3 +
4 + 1 + 2 = 18 जो 3 से ववभ्ज है और संख् के अननम िो अंक 12 जो
4 से ववभ्ज है। अथ््त संख् 83412, 12 से ववभ्ज है।
A number divisible by 12 must be divisible by 3 and 4. The sum
of the digits of a number divisible by 3 must also be divisible
by 3. The last two digits of a number divisible by 4 must be
divisible by 4. From option (d)- Then 8 + 3 + 4 + 1 + 2 = 18
which is divisible by 3 and the last two digits of the number are
12 which is divisible by 4. That means the number 83412 is
divisible by 12.
Ques 24. ANS (B) Solution:
कोई संख् यवि 9 से ववभ्ज है तो उस संख् के अंकों क् योगफल 9 से
ववभ्ज होन् च्वहए।
अत: ववकल (b) 47862 ⇒ 4+7+8+6 + 2 = 27 जो वक 9 से ववभ्ज है।
If a number is divisible by 9, then the sum of the digits of that
number should be divisible by 9.
Hence option (b) 47862 ⇒ 4+7+8+6 + 2 = 27 which is divisible
by 9.
Ques 25. ANS (C) Solution:

Ques 26. ANS (C) Solution:
म्न् तीन कम्गत ववषम संख् x, x +2, x+ 4 है। प््न्स्र- x + x+2 +
x+4 = x + 20 3x + 6 = x + 20 2x = 14 x = 7 सबसे बड़ी संख् = x
+ 4 = 7 + 4 = 11
Let there be three consecutive odd numbers x, x + 2, x + 4.
According to the question- x + x+2 + x+4 = x + 20 3x + 6 = x
+ 20 2x = 14 x = 7 Largest number = x + 4 = 7 + 4 = 11
Ques 27. ANS (A) Solution:
ववकल से जब x = .5 तब .272
From the option when x = .5 then .272
Ques 28. ANS (C) Solution:
म्न् च्र कम्गत संख्एं कमश: n, (n + 1) (n+ 2) (n + 3) है
प््न्स्र- च्र कम्गत संख्यं क् ग्रनफल = n (n+ 1) (n+ 2) (n +
3) जह्ँ n = 1, 2, 3 ------- n = 1 रखने पर, ग्रनफल = 1 (1+ 1) (1+
2) (1 + 3) = 1 × 2 × 3 × 4 = 24 n = 2 रखने पर- ग्रनफल =
2×3×4×5 = 24 × 5 = 120 अत: च्र कम्गत संख्यं क् ग्रनफल
हमेश् संख् 24 से ववभ्ज होत् है।
Let the four consecutive numbers be n, (n + 1) (n + 2) (n + 3)
respectively. According to the question - Product of four
consecutive numbers = n (n + 1) (n + 2) (n + 3) where n = 1, 2,
3 ------- Putting n = 1, product = 1 (1+ 1) (1+ 2) (1 + 3) = 1 × 2
× 3 × 4 = 24 Putting n = 2- Product = 2×3×4×5 = 24 × 5 =
120 Hence, the product of four consecutive numbers is always
divisible by the number 24.
Ques 29. ANS (A) Solution:

म्न् तीसरी संख् = 100 तब पहली संख् = 125 तथ् िूसरी संख् =
150 पहली संख् : िूसरी संख् = 125:150 = 5:6
Let third number = 100 then first number = 125 and second
number = 150 First number : Second number = 125:150 = 5:6
Ques 30. ANS (A) Solution:
म्न् तीन कम्गत ववषम पूर ण्क = x, x + 2, x + 4 3x = 2(x + 4) +3 3x
= 2x + 8 + 3 x = 11 अत: तीसर् पूर ण्क = x + 4 = 11 + 4 = 15
Let three consecutive odd integers = x, x + 2, x + 4 3x = 2(x + 4)
+3 3x = 2x + 8 + 3 x = 11 Hence, third integer = x + 4 = 11 + 4
= 15
Ques 31. ANS (B) Solution:
1 से 10 तक िह्ई के अंकों की संख् = 1 11 से 90 तक िह्ई के अंकों
की संख् = 80 91 से 99 तक िह्ई के अंकों की संख् = 9 क्ल िह्ई
के अंकों की संख् = 1 + 80 + 9 = 90
Number of tens digits from 1 to 10 = 1 Number of tens digits
from 11 to 90 = 80 Number of tens digits from 91 to 99 = 9
Total number of tens digits = 1 + 80 + 9 = 90
Ques 32. ANS (B) Solution:

Ques 33. ANS (C) Solution:

Ques 34. ANS (A) Solution:

Ques 35. ANS (C) Solution:



Ques 36. ANS (A) Solution:

Ques 37. ANS (A) Solution:

Ques 38. ANS (A) Solution:

Ques 39. ANS (D) Solution:
जो संख् केवल 1 एवं सयं से ववभ्वजत हो अभ्ज संख् कहल्ती है।
अत: सष है वक िो अंक की सबसे बड़ी अभ्ज संख् = 97
The number which is divisible only by 1 and itself is called
prime number. Hence, it is clear that the largest two digit prime
number = 97
Ques 40. ANS (C) Solution:
सबसे छोटी अभ्ज संख् = 2
वकसी भी पूर् संख् मे (शून को छोड़कर) 2 से ग्र् करने पर हमेश्
ग्रनफल एक सम संख् प्र होग्।
Smallest prime number = 2
Multiplying any whole number (except zero) by 2 will always
result in an even number.
Ques 41. ANS (C) Solution:
50 और 80 के बीच की अभ्ज संख्यं क् योग =
53+59+61+67+71+73+79 = 463
Sum of prime numbers between 50 and 80 =
53+59+61+67+71+73+79 = 463
Ques 42. ANS (D) Solution:

ववकल (d) से - 3 + 7 + 11 + 13 = 34
From option (d) – 3 + 7 + 11 + 13 = 34
Ques 43. ANS (C) Solution:
11 से 20 तक = 1 ब्र
21 से 30 तक = 9 ब्र
31 से 100 तक = 0 ब्र
क्ल संख् = 1 + 9 = 10
From 11 to 20 = 1 time
From 21 to 30 = 9 times
From 31 to 100 = 0 times
Total number = 1 + 9 = 10
Ques 44. ANS (B) Solution:
एक अभ्ज संख् केवल ख्ि से और 1 से ववभ्वजत होती है।
A prime number is divisible only by itself and by 1.
Ques 45. ANS (C) Solution:
1 से 49 तक अंक 5 व्ली संख् = 5
50 से 60 तक अंक 5 व्ली संख् = 11
61 से 100 तक अंक 5 व्ली संख् = 4
क्ल संख् = 5 + 11 + 4 = 20
Number containing digit 5 from 1 to 49 = 5
Numbers with digit 5 from 50 to 60 = 11
Number containing digit 5 from 61 to 100 = 4
Total numbers = 5 + 11 + 4 = 20
Ques 46. ANS (C) Solution:
ऐसी िो संख्एँ य् िो से अविक संख्एँ वजनक् उभयवनष अपवत्क 1 हो
अथ््तत उन संख्यं क् महतम सम्पवत्क 1 हो वैसी संख्एँ सह–
अभ्ज संख्एँ कहल्ती है। ववकलों मे (c) 59, 97 उपय्क सह–अभ्ज
जोड़् है।
Two numbers or more than two numbers whose common
multiple is 1, that is, the greatest common multiple of those
numbers is 1, such numbers are called co-prime numbers. In
option (c) 59, 97 is the appropriate co-prime pair.
Ques 47. ANS (C) Solution:
संख् 729 भ्ज हैैै जो 3, 9, 81, से ववभ्वजत हो ज्ती है।
The number 729 is divisible by 3, 9, 81.
Ques 48. ANS (A) Solution:
पहले 100 प्का त संख्यं मे अभ्ज संख्एं – 2, 3, 5, 7, 11, 13, 17,
19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 97
इस तरह पहले 100 प्का त संख्यं मे 25 अभ्ज संख्एँ है।
Prime numbers in the first 100 natural numbers – 2, 3, 5, 7, 11,
13, 17, 19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83,
89, 97 are thus 25 prime numbers among the first 100 natural
numbers.
Ques 49. ANS (A) Solution:
सह अभ्ज संख्ये (Co-Prime numbers) - िो संख्यं क् ऐस्
सम्चय वजनक् म.स. (H.C.F.) 1 हो सह अभ्ज संख्एँ कहल्ती है।
(12, 7) मे संख्यं क् HCF = 1
Co-Prime numbers – A set of two numbers whose M.P. (H.C.F.)
1 and co-prime numbers are called.
HCF of numbers in (12, 7) = 1
Ques 50. ANS (D) Solution:
ववषम भ्ज संख् = 15
Odd composite number = 15
Ques 51. ANS (B) Solution:
पथम 8 ववषम अभ्ज संख् = 3, 5, 7, 11, 13, 17, 19, 23 संख्यं क्
योग = 3 + 5 + 7 + 11 + 13 + 17 + 19 + 23 = 98
First 8 odd prime numbers = 3, 5, 7, 11, 13, 17, 19, 23 Sum of
numbers = 3 + 5 + 7 + 11 + 13 + 17 + 19 + 23 = 98
Ques 52. ANS (D) Solution:



60 और 100 के मध अभ्ज संख्- 61, 67, 71, 73, 79, 83, 89, 97
अत: n = 8
Prime numbers between 60 and 100 – 61, 67, 71, 73, 79, 83, 89,
97 hence n = 8
Ques 53. ANS (C) Solution:

Ques 54. ANS (C) Solution:
टीन प्इा क् अथ् है। ज्ड़व् अभ्ज अथ््तत 131 और 133 मे 133
अभ्ज संख् नही ं है, कोवंक 133 के ग्रनखण, 19, 7, 1, 133 है।
Meaning of tween primes. In the twin primes i.e. 131 and 133,
133 is not a prime number, because the factors of 133 are 19, 7,
1, 133.

Ques 55. ANS (C) Solution:
अभ्ज संख्- वे संख्ये वजनके वसफ् िो ही ग्रनखण होते है। सयं
संख् और 1 अथ््तत अभ्ज अंक की शंखल् = 2, 3, 5, 7, 11, 13, 17, 19
Prime numbers- Those numbers which have only two factors.
Number itself and 1 i.e. series of prime numbers = 2, 3, 5, 7, 11,
13, 17, 19
Ques 56. ANS (D) Solution:
वह संख् जो पूर् संख्यं क् ग्र् करके बन्ई ज्ती है वह संय्क
संख् कहल्ती है। अत: 209 = 11 x 19 203 = 7 x 29 161 = 7 x 23
लेवकन 109 को ग्रनखणों के णप मे (1 को छोड़कर) नही ं वलख् ज्
सकत् है।
The number which is formed by multiplying whole numbers is
called composite number. Hence, 209 = 11 x 19 203 = 7 x 29
161 = 7 x 23 But 109 cannot be written in the form of factors
(except 1).
Ques 57. ANS (D) Solution:

Ques 58. ANS (C) Solution:

Ques 59. ANS (D) Solution:

Ques 60. ANS (B) Solution:

Ques 61. ANS (B) Solution:
म्न् संख् x है प््न्स्र, 5x – 10 = 4x + 8 x = 18 अत: वह संख् 18
होगी।
Let the number be x, as per the question, 5x – 10 = 4x + 8 x =
18, hence the number will be 18.
Ques 62. ANS (A) Solution:

Ques 63. ANS (A) Solution:

Ques 64. ANS (B) Solution:

Ques 65. ANS (A) Solution:



Ques 66. ANS (D) Solution:

Ques 67. ANS (B) Solution:

Ques 68. ANS (A) Solution:

Ques 69. ANS (B) Solution:

Ques 70. ANS (D) Solution:

Ques 71. ANS (D) Solution:

Ques 72. ANS (B) Solution:

Ques 73. ANS (B) Solution:

Ques 74. ANS (C) Solution:

Ques 75. ANS (B) Solution:



Ques 76. ANS (D) Solution:

Ques 77. ANS (C) Solution:

Ques 78. ANS (D) Solution:

Ques 79. ANS (B) Solution:

Ques 80. ANS (C) Solution:

Ques 81. ANS (D) Solution:
िो अंको की सबसे बड़ी अभ्ज संख् • 97 िो अंको की सबसे छोटी
अभ्ज संख् • 11 अभीष संख् • 97 – 11= 86
Largest prime number of two digits • 97 Smallest prime
number of two digits • 11 Desired number • 97 – 11= 86
Ques 82. ANS (D) Solution:

Ques 83. ANS (B) Solution:

Ques 84. ANS (D) Solution:

Ques 85. ANS (D) Solution:

Ques 86. ANS (C) Solution:

Ques 87. ANS (D) Solution:



Ques 88. ANS (C) Solution:

Ques 89. ANS (B) Solution:

Ques 90. ANS (B) Solution:

Ques 91. ANS (C) Solution:

Ques 92. ANS (C) Solution:

Ques 93. ANS (C) Solution:

Ques 94. ANS (B) Solution:

Ques 95. ANS (B) Solution:

Ques 96. ANS (B) Solution:

Ques 97. ANS (C) Solution:

Ques 98. ANS (B) Solution:

Ques 99. ANS (D) Solution:

Ques 100. ANS (B) Solution:



Ques 101. ANS (D) Solution:

Ques 102. ANS (D) Solution:
सभी अपररमेय संख्एँ व्सववक संख्एँ होती है। जैसे - √2
All irrational numbers are real numbers. Like - √2
Ques 103. ANS (D) Solution:

Ques 104. ANS (A) Solution:

Ques 105. ANS (B) Solution:

Ques 106. ANS (B) Solution:

Ques 107. ANS (D) Solution:

Ques 108. ANS (D) Solution:

Ques 109. ANS (D) Solution:

Ques 110. ANS (A) Solution:

Ques 111. ANS (A) Solution:

Ques 112. ANS (B) Solution:

Ques 113. ANS (C) Solution:

Ques 114. ANS (A) Solution:

Ques 115. ANS (C) Solution:



Ques 116. ANS (A) Solution:

Ques 117. ANS (D) Solution:

Ques 118. ANS (C) Solution:

Ques 119. ANS (A) Solution:

Ques 120. ANS (C) Solution:
1250 पूर् वग् नही ं है। जबवक अन सभी पूर् वग् है। | 1250 = ( 35.36 )²
जो एक पूर् वग् नही ं है ।
2025 = (45)², 16641 = (129)², 9801 = (99)²
1250 is not a perfect square. While all others are perfect
squares. , 1250 = ( 35.36 )² which is not a perfect square.
2025 = (45)², 16641 = (129)², 9801 = (99)²
Ques 121. ANS (C) Solution:

Ques 122. ANS (A) Solution:

Ques 123. ANS (B) Solution:

Ques 124. ANS (B) Solution:

Ques 125. ANS (B) Solution:

Ques 126. ANS (B) Solution:

Ques 127. ANS (D) Solution:

Ques 128. ANS (B) Solution:



Ques 129. ANS (B) Solution:

Ques 130. ANS (B) Solution:

Ques 131. ANS (C) Solution:

Ques 132. ANS (A) Solution:

Ques 133. ANS (B) Solution:
7864 मे 57 जोड़ने पर 7921 प्र होत् है जो वक 89 क् पूर् वग् है। अतः
सष है वक 7864 मे 57 जोड़ने पर संख् पूर् वग् बन ज्येगी ।
Adding 57 to 7864 gives 7921 which is a perfect square of 89.
Hence, it is clear that by adding 57 to 7864 the number will
become a perfect square.
Ques 134. ANS (C) Solution:

Ques 135. ANS (A) Solution:

0.09 = (0.3)²
अतः केवल 0.09 पूर् वग् संख् है।
0.09 = (0.3)²
Hence only 0.09 is a perfect square number.
Ques 136. ANS (C) Solution:

Ques 137. ANS (B) Solution:

Ques 138. ANS (C) Solution:

Ques 139. ANS (C) Solution:

Ques 140. ANS (C) Solution:

Ques 141. ANS (C) Solution:



Ques 142. ANS (D) Solution:

Ques 143. ANS (B) Solution:

Ques 144. ANS (B) Solution:

Ques 145. ANS (C) Solution:

Ques 146. ANS (C) Solution:

Ques 147. ANS (B) Solution:

Ques 148. ANS (C) Solution:

Ques 149. ANS (B) Solution:

Ques 150. ANS (A) Solution:

Ques 151. ANS (D) Solution:

Ques 152. ANS (B) Solution:

Ques 153. ANS (D) Solution:

Ques 154. ANS (C) Solution:

Ques 155. ANS (D) Solution:

Ques 156. ANS (A) Solution:



Ques 157. ANS (C) Solution:

Ques 158. ANS (D) Solution:

Ques 159. ANS (C) Solution:

Ques 160. ANS (B) Solution:

Ques 161. ANS (D) Solution:

Ques 162. ANS (B) Solution:

Ques 163. ANS (D) Solution:



Ques 164. ANS (B) Solution:

Ques 165. ANS (B) Solution:

Ques 166. ANS (B) Solution:

Ques 167. ANS (D) Solution:

Ques 168. ANS (D) Solution:

Ques 169. ANS (B) Solution:

Ques 170. ANS (A) Solution:

Ques 171. ANS (B) Solution:

Ques 172. ANS (A) Solution:



Ques 173. ANS (B) Solution:

Ques 174. ANS (B) Solution:

Ques 175. ANS (B) Solution:
634785 मे 8 क् स्नीय म्न= 8 × 10 = 80
Ques 176. ANS (C) Solution:

Ques 177. ANS (A) Solution:

Ques 178. ANS (A) Solution:

Ques 179. ANS (B) Solution:

Ques 180. ANS (B) Solution:

Ques 181. ANS (C) Solution:

Ques 182. ANS (D) Solution:

Ques 183. ANS (A) Solution:

Ques 184. ANS (B) Solution:

Ques 185. ANS (B) Solution:



Ques 186. ANS (B) Solution:

Ques 187. ANS (C) Solution:

Ques 188. ANS (B) Solution:

Ques 189. ANS (D) Solution:

Ques 190. ANS (D) Solution:

Ques 191. ANS (A) Solution:

Ques 192. ANS (C) Solution:



Ques 1. ANS (B) Solution:

Ques 2. ANS (C) Solution:

Ques 3. ANS (C) Solution:

Ques 4. ANS (A) Solution:

Ques 5. ANS (D) Solution:

Ques 6. ANS (D) Solution:

Ques 7. ANS (C) Solution:

Ques 8. ANS (B) Solution:

Ques 9. ANS (A) Solution:

Ques 10. ANS (A) Solution:

Ques 11. ANS (B) Solution:

SOLUTION, Decimal Fractions



Ques 12. ANS (A) Solution:

Ques 13. ANS (C) Solution:

Ques 14. ANS (B) Solution:

Ques 15. ANS (C) Solution:

Ques 16. ANS (A) Solution:

Ques 17. ANS (D) Solution:

Ques 18. ANS (D) Solution:

Ques 19. ANS (A) Solution:

Ques 20. ANS (A) Solution:

Ques 21. ANS (C) Solution:
न्य नूा भिन वह भिन होतू है भिसा अयुपूभता िूगोन ाू एा ाॉमय
गुणयखण हू। अतः

A denominator fraction is a fraction whose proportional parts
have a common factor. Therefore

Ques 22. ANS (A) Solution:

Ques 23. ANS (D) Solution:

Ques 24. ANS (C) Solution:
आरूही कम मे
0.65 < 0.67 < 0.76< 0.86
in ascending order
0.65 < 0.67 < 0.76 < 0.86
Ques 25. ANS (C) Solution:

Ques 26. ANS (C) Solution:



Ques 27. ANS (C) Solution:

Ques 28. ANS (A) Solution:

Ques 29. ANS (C) Solution:

Ques 30. ANS (D) Solution:

Ques 31. ANS (D) Solution:

Ques 32. ANS (A) Solution:

Ques 33. ANS (D) Solution:

Ques 34. ANS (B) Solution:

Ques 35. ANS (C) Solution:

Ques 36. ANS (D) Solution:

Ques 37. ANS (C) Solution:

Ques 38. ANS (C) Solution:



Ques 39. ANS (C) Solution:

Ques 40. ANS (D) Solution:

Ques 41. ANS (C) Solution:

Ques 42. ANS (C) Solution:

Ques 43. ANS (D) Solution:

Ques 44. ANS (C) Solution:

Ques 45. ANS (C) Solution:

Ques 46. ANS (C) Solution:

Ques 47. ANS (B) Solution:

Ques 48. ANS (B) Solution:

Ques 49. ANS (C) Solution:

Ques 50. ANS (A) Solution:

Ques 51. ANS (A) Solution:



Ques 52. ANS (A) Solution:

Ques 53. ANS (C) Solution:

Ques 54. ANS (D) Solution:

Ques 55. ANS (B) Solution:

Ques 56. ANS (D) Solution:

Ques 57. ANS (D) Solution:

Ques 58. ANS (B) Solution:

Ques 59. ANS (D) Solution:

Ques 60. ANS (C) Solution:

Ques 61. ANS (D) Solution:

Ques 62. ANS (C) Solution:

Ques 63. ANS (B) Solution:



Ques 64. ANS (A) Solution:

Ques 65. ANS (A) Solution:

Ques 66. ANS (B) Solution:

Ques 67. ANS (B) Solution:

Ques 68. ANS (B) Solution:

Ques 69. ANS (D) Solution:

Ques 70. ANS (C) Solution:

Ques 71. ANS (C) Solution:

Ques 72. ANS (C) Solution:



Ques 73. ANS (C) Solution:

Ques 74. ANS (D) Solution:

Ques 75. ANS (D) Solution:

Ques 76. ANS (C) Solution:

Ques 77. ANS (B) Solution:

Ques 78. ANS (A) Solution:

Ques 79. ANS (A) Solution:

Ques 80. ANS (B) Solution:

Ques 81. ANS (A) Solution:

Ques 82. ANS (A) Solution:

Ques 83. ANS (B) Solution:
73/8 = 9.125
Ques 84. ANS (D) Solution:



Ques 85. ANS (A) Solution:

Ques 86. ANS (D) Solution:

Ques 87. ANS (A) Solution:

Ques 88. ANS (D) Solution:

Ques 89. ANS (A) Solution:

Ques 90. ANS (D) Solution:

Ques 91. ANS (B) Solution:

Ques 92. ANS (A) Solution:

Ques 93. ANS (C) Solution:

Ques 94. ANS (D) Solution:

Ques 95. ANS (C) Solution:

Ques 96. ANS (C) Solution:
0.05 × 0.4 = 0.02
Ques 97. ANS (A) Solution:

Ques 98. ANS (B) Solution:
13/55 = 0.236
Ques 99. ANS (C) Solution:

Ques 100. ANS (A) Solution:

Ques 101. ANS (B) Solution:



Ques 102. ANS (D) Solution:

Ques 103. ANS (B) Solution:

Ques 104. ANS (C) Solution:

Ques 105. ANS (B) Solution:

Ques 106. ANS (D) Solution:

Ques 107. ANS (A) Solution:

Ques 108. ANS (D) Solution:

Ques 109. ANS (C) Solution:

Ques 110. ANS (D) Solution:

Ques 111. ANS (B) Solution:

Ques 112. ANS (A) Solution:

Ques 113. ANS (A) Solution:



Ques 114. ANS (C) Solution:

Ques 115. ANS (A) Solution:

Ques 116. ANS (C) Solution:

Ques 117. ANS (D) Solution:



Ques 1. ANS (B) Solution:

Ques 2. ANS (C) Solution:

Ques 3. ANS (A) Solution:

Ques 4. ANS (D) Solution:

Ques 5. ANS (A) Solution:

Ques 6. ANS (C) Solution:

Ques 7. ANS (B) Solution:

Ques 8. ANS (B) Solution:

Ques 9. ANS (C) Solution:

Ques 10. ANS (C) Solution:

Ques 11. ANS (C) Solution:

SOLUTION, Indices and Surds



Ques 12. ANS (D) Solution:

Ques 13. ANS (B) Solution:

Ques 14. ANS (D) Solution:

Ques 15. ANS (B) Solution:

Ques 16. ANS (D) Solution:

Ques 17. ANS (D) Solution:

Ques 18. ANS (B) Solution:

Ques 19. ANS (A) Solution:

Ques 20. ANS (C) Solution:

Ques 21. ANS (A) Solution:



Ques 22. ANS (D) Solution:

Ques 23. ANS (B) Solution:

Ques 24. ANS (B) Solution:

Ques 25. ANS (C) Solution:

Ques 26. ANS (C) Solution:

Ques 27. ANS (C) Solution:

Ques 28. ANS (D) Solution:

Ques 29. ANS (C) Solution:

Ques 30. ANS (A) Solution:

Ques 31. ANS (B) Solution:

Ques 32. ANS (A) Solution:



Ques 33. ANS (A) Solution:

Ques 34. ANS (C) Solution:

Ques 35. ANS (A) Solution:

Ques 36. ANS (D) Solution:

Ques 37. ANS (A) Solution:

Ques 38. ANS (D) Solution:

Ques 39. ANS (B) Solution:

Ques 40. ANS (C) Solution:

Ques 41. ANS (A) Solution:

Ques 42. ANS (D) Solution:

Ques 43. ANS (A) Solution:



Ques 44. ANS (B) Solution:

Ques 45. ANS (A) Solution:

Ques 46. ANS (A) Solution:

Ques 47. ANS (B) Solution:

Ques 48. ANS (C) Solution:

Ques 49. ANS (C) Solution:

Ques 50. ANS (D) Solution:

Ques 51. ANS (C) Solution:

Ques 52. ANS (A) Solution:

Ques 53. ANS (A) Solution:

Ques 54. ANS (B) Solution:



Ques 55. ANS (B) Solution:

Ques 56. ANS (D) Solution:

Ques 57. ANS (C) Solution:

Ques 58. ANS (A) Solution:

Ques 59. ANS (C) Solution:

Ques 60. ANS (A) Solution:

Ques 61. ANS (A) Solution:

Ques 62. ANS (D) Solution:

Ques 63. ANS (D) Solution:

Ques 64. ANS (C) Solution:

Ques 65. ANS (D) Solution:



Ques 66. ANS (D) Solution:

Ques 67. ANS (B) Solution:

Ques 68. ANS (A) Solution:

Ques 69. ANS (C) Solution:

Ques 70. ANS (C) Solution:

Ques 71. ANS (D) Solution:

Ques 72. ANS (C) Solution:

Ques 73. ANS (A) Solution:

Ques 74. ANS (D) Solution:

Ques 75. ANS (D) Solution:

Ques 76. ANS (C) Solution:

Ques 77. ANS (C) Solution:



Ques 78. ANS (C) Solution:

Ques 79. ANS (C) Solution:

Ques 80. ANS (C) Solution:

Ques 81. ANS (C) Solution:

Ques 82. ANS (C) Solution:

Ques 83. ANS (C) Solution:

Ques 84. ANS (B) Solution:

Ques 85. ANS (B) Solution:

Ques 86. ANS (D) Solution:



Ques 87. ANS (D) Solution:

Ques 88. ANS (C) Solution:

Ques 89. ANS (C) Solution:

Ques 90. ANS (A) Solution:



Ques 1. ANS (B) Solution:
0.8+ 0.08+0.008 +8 = 8.888
Ques 2. ANS (D) Solution:

Ques 3. ANS (B) Solution:

Ques 4. ANS (B) Solution:
33.33 - 0.03 + 333.333 - 3.33
= 33.30+ 330.003 = 363.303
Ques 5. ANS (D) Solution:

Ques 6. ANS (A) Solution:

Ques 7. ANS (D) Solution:
30.9 + 3.09 + 0.309 +0.039 + 309 = 343.338
Ques 8. ANS (A) Solution:

Ques 9. ANS (C) Solution:

Ques 10. ANS (C) Solution:

Ques 11. ANS (B) Solution:

Ques 12. ANS (A) Solution:

Ques 13. ANS (C) Solution:

Ques 14. ANS (A) Solution:

Ques 15. ANS (B) Solution:
20.9 + 2.09 + 0.209 + 0.029 + 29 = 52.228
Ques 16. ANS (D) Solution:

Ques 17. ANS (A) Solution:

Ques 18. ANS (C) Solution:

Ques 19. ANS (B) Solution:
5.16 × 3.2 = 16.512
Ques 20. ANS (D) Solution:
1. 1 + 12. 12 + 123. 123 = 136.343
Ques 21. ANS (D) Solution:
128-43+ 57 -143 + 94 = 85-86 +94 = 93
Ques 22. ANS (C) Solution:
5231405 × 99999 = 523135268595
Ques 23. ANS (C) Solution:

SOLUTION, Simplification



Ques 24. ANS (D) Solution:

Ques 25. ANS (C) Solution:

Ques 26. ANS (D) Solution:

Ques 27. ANS (B) Solution:

Ques 28. ANS (C) Solution:

Ques 29. ANS (D) Solution:

Ques 30. ANS (D) Solution:

Ques 31. ANS (A) Solution:

Ques 32. ANS (C) Solution:

Ques 33. ANS (D) Solution:

Ques 34. ANS (C) Solution:

Ques 35. ANS (C) Solution:

Ques 36. ANS (A) Solution:

Ques 37. ANS (B) Solution:

Ques 38. ANS (A) Solution:

Ques 39. ANS (A) Solution:

Ques 40. ANS (B) Solution:

Ques 41. ANS (D) Solution:

Ques 42. ANS (A) Solution:

Ques 43. ANS (D) Solution:



Ques 44. ANS (C) Solution:

Ques 45. ANS (C) Solution:

Ques 46. ANS (B) Solution:

Ques 47. ANS (C) Solution:

Ques 48. ANS (D) Solution:

Ques 49. ANS (C) Solution:

Ques 50. ANS (D) Solution:

Ques 51. ANS (A) Solution:

Ques 52. ANS (B) Solution:

Ques 53. ANS (A) Solution:

Ques 54. ANS (B) Solution:

Ques 55. ANS (A) Solution:



Ques 56. ANS (D) Solution:

Ques 57. ANS (B) Solution:

Ques 58. ANS (A) Solution:

Ques 59. ANS (D) Solution:

Ques 60. ANS (C) Solution:

Ques 61. ANS (D) Solution:

Ques 62. ANS (A) Solution:

Ques 63. ANS (B) Solution:

Ques 64. ANS (D) Solution:

Ques 65. ANS (B) Solution:

Ques 66. ANS (C) Solution:



Ques 67. ANS (C) Solution:

Ques 68. ANS (B) Solution:

Ques 69. ANS (D) Solution:

Ques 70. ANS (B) Solution:

Ques 71. ANS (C) Solution:

Ques 72. ANS (A) Solution:

Ques 73. ANS (D) Solution:
6–36 x 3 ÷ 6 + 5 =6-36 x 3/6 + 5 , = 6-36 x 1/2 +5 =6-18 +5 ,
= -7
Ques 74. ANS (D) Solution:

Ques 75. ANS (D) Solution:

Ques 76. ANS (C) Solution:

Ques 77. ANS (A) Solution:

Ques 78. ANS (B) Solution:

Ques 79. ANS (C) Solution:



Ques 80. ANS (B) Solution:

Ques 81. ANS (A) Solution:

Ques 82. ANS (B) Solution:

Ques 83. ANS (C) Solution:

Ques 84. ANS (B) Solution:

Ques 85. ANS (A) Solution:

Ques 86. ANS (B) Solution:

Ques 87. ANS (B) Solution:

Ques 88. ANS (C) Solution:

Ques 89. ANS (B) Solution:

Ques 90. ANS (C) Solution:



Ques 1. ANS (C) Solution:

Ques 2. ANS (C) Solution:

Ques 3. ANS (A) Solution:

Ques 4. ANS (B) Solution:

Ques 5. ANS (A) Solution:

Ques 6. ANS (A) Solution:

Ques 7. ANS (B) Solution:

36 और K का ल.स. = 72
विकल से-
K के समाविव मान = 8,24 वथा 72 होगे ।
LCM of 36 and K = 72
From option-
Possible values of K would be 8,24 and 72.
Ques 8. ANS (D) Solution:

Ques 9. ANS (A) Solution:

Ques 10. ANS (A) Solution:
संखा वथा Y है। वब, ल.स. = XY नोट–सह-मूल संखायं का ल.स.
संखायं का गुणनफल होवा है।
Number and Y. Then, LCM = XY Note – LCM of co-root
numbers. Numbers are multiplied.
Ques 11. ANS (D) Solution:

Ques 12. ANS (A) Solution:

Ques 13. ANS (C) Solution:

SOLUTION, Lowest common multiple & Highest common factor



Ques 14. ANS (C) Solution:

Ques 15. ANS (C) Solution:

Ques 16. ANS (A) Solution:

Ques 17. ANS (A) Solution:

Ques 18. ANS (A) Solution:

Ques 19. ANS (C) Solution:

Ques 20. ANS (C) Solution:

Ques 21. ANS (B) Solution:

Ques 22. ANS (A) Solution:

Ques 23. ANS (B) Solution:

Ques 24. ANS (D) Solution:

Ques 25. ANS (D) Solution:

Ques 26. ANS (A) Solution:

Ques 27. ANS (C) Solution:



Ques 28. ANS (D) Solution:

Ques 29. ANS (C) Solution:

Ques 30. ANS (D) Solution:

Ques 31. ANS (D) Solution:

Ques 32. ANS (D) Solution:

Ques 33. ANS (B) Solution:

Ques 34. ANS (A) Solution:

Ques 35. ANS (C) Solution:

Ques 36. ANS (A) Solution:

Ques 37. ANS (B) Solution:



Ques 38. ANS (C) Solution:

Ques 39. ANS (C) Solution:

Ques 40. ANS (B) Solution:

Ques 41. ANS (B) Solution:

Ques 42. ANS (C) Solution:

Ques 43. ANS (B) Solution:

Ques 44. ANS (C) Solution:

Ques 45. ANS (B) Solution:

Ques 46. ANS (D) Solution:

Ques 47. ANS (C) Solution:

Ques 48. ANS (C) Solution:

Ques 49. ANS (B) Solution:

Ques 50. ANS (B) Solution:

Ques 51. ANS (C) Solution:

Ques 52. ANS (B) Solution:

Ques 53. ANS (C) Solution:

Ques 54. ANS (B) Solution:



Ques 55. ANS (D) Solution:

Ques 56. ANS (A) Solution:

Ques 57. ANS (D) Solution:

Ques 58. ANS (B) Solution:

Ques 59. ANS (D) Solution:

Ques 60. ANS (D) Solution:

Ques 61. ANS (C) Solution:

Ques 62. ANS (A) Solution:

Ques 63. ANS (D) Solution:

Ques 64. ANS (C) Solution:

Ques 65. ANS (C) Solution:



Ques 66. ANS (C) Solution:
प्ानुसार चॉकलेट, वबसुट, आइसक्म क् संखा कमर: 24, 36 वथा 60
है। विदावथर्ो ं क् संखा = 24, 36 वथा 60 का म.स = 12
According to the question, the number of chocolates, biscuits
and ice creams are 24, 36 and 60 respectively. Number of
students = 24, 36 and 60
Ques 67. ANS (C) Solution:

Ques 68. ANS (A) Solution:

Ques 69. ANS (C) Solution:

Ques 70. ANS (B) Solution:

Ques 71. ANS (D) Solution:

Ques 72. ANS (C) Solution:

Ques 73. ANS (A) Solution:

Ques 74. ANS (A) Solution:

Ques 75. ANS (C) Solution:

Ques 76. ANS (B) Solution:



Ques 77. ANS (C) Solution:

Ques 78. ANS (C) Solution:

Ques 79. ANS (C) Solution:

Ques 80. ANS (C) Solution:

Ques 81. ANS (D) Solution:

Ques 82. ANS (C) Solution:

Ques 83. ANS (B) Solution:

Ques 84. ANS (B) Solution:

Ques 85. ANS (C) Solution:

Ques 86. ANS (C) Solution:



Ques 87. ANS (C) Solution:

Ques 88. ANS (C) Solution:

Ques 89. ANS (A) Solution:

Ques 90. ANS (C) Solution:

Ques 91. ANS (A) Solution:

Ques 92. ANS (A) Solution:

Ques 93. ANS (D) Solution:

Ques 94. ANS (A) Solution:

Ques 95. ANS (D) Solution:

Ques 96. ANS (C) Solution:



Ques 97. ANS (D) Solution:

Ques 98. ANS (A) Solution:

Ques 99. ANS (A) Solution:

Ques 100. ANS (D) Solution:

Ques 101. ANS (A) Solution:

Ques 102. ANS (C) Solution:

Ques 103. ANS (C) Solution:

Ques 104. ANS (A) Solution:

Ques 105. ANS (C) Solution:

Ques 106. ANS (D) Solution:

Ques 107. ANS (A) Solution:

Ques 108. ANS (B) Solution:



Ques 109. ANS (B) Solution:

Ques 110. ANS (B) Solution:

Ques 111. ANS (C) Solution:

Ques 112. ANS (B) Solution:

Ques 113. ANS (A) Solution:

Ques 114. ANS (B) Solution:

Ques 115. ANS (D) Solution:

Ques 116. ANS (C) Solution:

Ques 117. ANS (B) Solution:

Ques 118. ANS (B) Solution:

Ques 119. ANS (D) Solution:



Ques 120. ANS (A) Solution:

Ques 121. ANS (C) Solution:

Ques 122. ANS (A) Solution:

Ques 123. ANS (B) Solution:

Ques 124. ANS (B) Solution:

Ques 125. ANS (B) Solution:

Ques 126. ANS (A) Solution:

Ques 127. ANS (C) Solution:

Ques 128. ANS (D) Solution:

Ques 129. ANS (C) Solution:

Ques 130. ANS (C) Solution:



Ques 131. ANS (B) Solution:

Ques 132. ANS (B) Solution:

Ques 133. ANS (D) Solution:

Ques 134. ANS (A) Solution:

Ques 135. ANS (B) Solution:

Ques 136. ANS (B) Solution:

Ques 137. ANS (C) Solution:

Ques 138. ANS (B) Solution:

Ques 139. ANS (B) Solution:

Ques 140. ANS (D) Solution:

Ques 141. ANS (A) Solution:

Ques 142. ANS (A) Solution:

Ques 143. ANS (A) Solution:



Ques 144. ANS (C) Solution:

Ques 145. ANS (A) Solution:

Ques 146. ANS (C) Solution:

Ques 147. ANS (A) Solution:

Ques 148. ANS (B) Solution:

Ques 149. ANS (A) Solution:

Ques 150. ANS (D) Solution:

Ques 151. ANS (B) Solution:

Ques 152. ANS (C) Solution:

Ques 153. ANS (B) Solution:

Ques 154. ANS (B) Solution:



Ques 155. ANS (A) Solution:

Ques 156. ANS (B) Solution:

Ques 157. ANS (C) Solution:

Ques 158. ANS (C) Solution:

Ques 159. ANS (C) Solution:

Ques 160. ANS (A) Solution:

Ques 161. ANS (D) Solution:

Ques 162. ANS (C) Solution:

Ques 163. ANS (B) Solution:

Ques 164. ANS (B) Solution:

Ques 165. ANS (A) Solution:

Ques 166. ANS (B) Solution:



Ques 167. ANS (C) Solution:

Ques 168. ANS (A) Solution:

Ques 169. ANS (D) Solution:

Ques 170. ANS (A) Solution:

Ques 171. ANS (A) Solution:

Ques 172. ANS (A) Solution:

Ques 173. ANS (A) Solution:

Ques 174. ANS (B) Solution:

Ques 175. ANS (D) Solution:

Ques 176. ANS (A) Solution:

Ques 177. ANS (A) Solution:

Ques 178. ANS (B) Solution:

Ques 179. ANS (B) Solution:

Ques 180. ANS (D) Solution:

Ques 181. ANS (D) Solution:



Ques 182. ANS (C) Solution:

Ques 183. ANS (A) Solution:

Ques 184. ANS (B) Solution:

Ques 185. ANS (D) Solution:

Ques 186. ANS (D) Solution:

Ques 187. ANS (C) Solution:

Ques 188. ANS (D) Solution:

Ques 189. ANS (C) Solution:

Ques 190. ANS (D) Solution:
6, 8, 10 और 12 का ल.स. = 120 अव: 120 के गुणक विभाज होगे जो
360, 480 है।

LCM of 6, 8, 10 and 12 = 120, hence the multiples of 120 will
be divisible which is 360, 480.
Ques 191. ANS (D) Solution:



Ques 192. ANS (C) Solution:

Ques 193. ANS (D) Solution:

Ques 194. ANS (A) Solution:

Ques 195. ANS (D) Solution:

Ques 196. ANS (C) Solution:

Ques 197. ANS (A) Solution:

Ques 198. ANS (C) Solution:

Ques 199. ANS (B) Solution:

Ques 200. ANS (A) Solution:



Ques 1. ANS (B) Solution:

Ques 2. ANS (A) Solution:

Ques 3. ANS (B) Solution:

Ques 4. ANS (D) Solution:

Ques 5. ANS (A) Solution:

Ques 6. ANS (C) Solution:

Ques 7. ANS (D) Solution:

Ques 8. ANS (B) Solution:

Ques 9. ANS (C) Solution:

Ques 10. ANS (B) Solution:

Ques 11. ANS (D) Solution:

SOLUTION, Percentage



Ques 12. ANS (B) Solution:

Ques 13. ANS (C) Solution:

Ques 14. ANS (D) Solution:

Ques 15. ANS (C) Solution:

Ques 16. ANS (A) Solution:

Ques 17. ANS (B) Solution:

Ques 18. ANS (A) Solution:

Ques 19. ANS (D) Solution:

Ques 20. ANS (B) Solution:

Ques 21. ANS (B) Solution:

Ques 22. ANS (B) Solution:



Ques 23. ANS (A) Solution:

Ques 24. ANS (A) Solution:

Ques 25. ANS (D) Solution:

Ques 26. ANS (B) Solution:

Ques 27. ANS (C) Solution:

Ques 28. ANS (A) Solution:

Ques 29. ANS (A) Solution:

Ques 30. ANS (B) Solution:

Ques 31. ANS (C) Solution:

Ques 32. ANS (A) Solution:

Ques 33. ANS (D) Solution:

Ques 34. ANS (A) Solution:

Ques 35. ANS (A) Solution:

Ques 36. ANS (C) Solution:



Ques 37. ANS (A) Solution:

Ques 38. ANS (B) Solution:

Ques 39. ANS (C) Solution:

Ques 40. ANS (A) Solution:

Ques 41. ANS (A) Solution:

Ques 42. ANS (A) Solution:

Ques 43. ANS (B) Solution:

Ques 44. ANS (B) Solution:

Ques 45. ANS (B) Solution:



Ques 46. ANS (A) Solution:

Ques 47. ANS (A) Solution:

Ques 48. ANS (C) Solution:

Ques 49. ANS (D) Solution:

Ques 50. ANS (A) Solution:

Ques 51. ANS (B) Solution:

Ques 52. ANS (A) Solution:

Ques 53. ANS (B) Solution:

Ques 54. ANS (A) Solution:

Ques 55. ANS (D) Solution:

Ques 56. ANS (C) Solution:

Ques 57. ANS (B) Solution:



Ques 58. ANS (B) Solution:

Ques 59. ANS (B) Solution:

Ques 60. ANS (A) Solution:

Ques 61. ANS (B) Solution:

Ques 62. ANS (C) Solution:

Ques 63. ANS (C) Solution:

Ques 64. ANS (D) Solution:

Ques 65. ANS (B) Solution:

Ques 66. ANS (A) Solution:

Ques 67. ANS (A) Solution:

Ques 68. ANS (B) Solution:

Ques 69. ANS (B) Solution:

Ques 70. ANS (A) Solution:

Ques 71. ANS (B) Solution:

Ques 72. ANS (C) Solution:

Ques 73. ANS (B) Solution:

Ques 74. ANS (B) Solution:

Ques 75. ANS (C) Solution:

Ques 76. ANS (B) Solution:



Ques 77. ANS (C) Solution:

Ques 78. ANS (A) Solution:

Ques 79. ANS (A) Solution:

Ques 80. ANS (C) Solution:

Ques 81. ANS (B) Solution:

Ques 82. ANS (C) Solution:

Ques 83. ANS (B) Solution:

Ques 84. ANS (B) Solution:

Ques 85. ANS (C) Solution:

Ques 86. ANS (C) Solution:

Ques 87. ANS (A) Solution:



Ques 88. ANS (D) Solution:

Ques 89. ANS (C) Solution:

Ques 90. ANS (A) Solution:

Ques 91. ANS (C) Solution:

Ques 92. ANS (D) Solution:

Ques 93. ANS (C) Solution:

Ques 94. ANS (A) Solution:

Ques 95. ANS (C) Solution:

Ques 96. ANS (A) Solution:

Ques 97. ANS (C) Solution:

Ques 98. ANS (B) Solution:

Ques 99. ANS (A) Solution:

Ques 100. ANS (A) Solution:

Ques 101. ANS (C) Solution:



Ques 102. ANS (A) Solution:

Ques 103. ANS (B) Solution:

Ques 104. ANS (B) Solution:

Ques 105. ANS (C) Solution:

Ques 106. ANS (A) Solution:

Ques 107. ANS (C) Solution:

Ques 108. ANS (D) Solution:

Ques 109. ANS (A) Solution:

Ques 110. ANS (C) Solution:

Ques 111. ANS (C) Solution:

Ques 112. ANS (D) Solution:



Ques 113. ANS (B) Solution:

Ques 114. ANS (D) Solution:

Ques 115. ANS (B) Solution:

Ques 116. ANS (C) Solution:

Ques 117. ANS (A) Solution:

Ques 118. ANS (A) Solution:

Ques 119. ANS (D) Solution:

Ques 120. ANS (B) Solution:

Ques 121. ANS (B) Solution:

Ques 122. ANS (A) Solution:

Ques 123. ANS (A) Solution:

Ques 124. ANS (D) Solution:

Ques 125. ANS (C) Solution:



Ques 126. ANS (C) Solution:

Ques 127. ANS (C) Solution:

Ques 128. ANS (D) Solution:



Ques 1. ANS (B) Solution:

Ques 2. ANS (B) Solution:

Ques 3. ANS (C) Solution:

Ques 4. ANS (D) Solution:

Ques 5. ANS (B) Solution:

Ques 6. ANS (C) Solution:

Ques 7. ANS (B) Solution:

Ques 8. ANS (C) Solution:

Ques 9. ANS (D) Solution:

SOLUTION, Profit & Loss



Ques 10. ANS (A) Solution:

Ques 11. ANS (D) Solution:

Ques 12. ANS (D) Solution:

Ques 13. ANS (D) Solution:

Ques 14. ANS (B) Solution:

Ques 15. ANS (A) Solution:

Ques 16. ANS (B) Solution:

Ques 17. ANS (D) Solution:

Ques 18. ANS (D) Solution:



Ques 19. ANS (B) Solution:

Ques 20. ANS (C) Solution:

Ques 21. ANS (D) Solution:

Ques 22. ANS (B) Solution:

Ques 23. ANS (C) Solution:

Ques 24. ANS (C) Solution:

Ques 25. ANS (C) Solution:

Ques 26. ANS (C) Solution:

Ques 27. ANS (C) Solution:

Ques 28. ANS (B) Solution:



Ques 29. ANS (B) Solution:

Ques 30. ANS (D) Solution:

Ques 31. ANS (B) Solution:

Ques 32. ANS (D) Solution:

Ques 33. ANS (A) Solution:

Ques 34. ANS (C) Solution:

Ques 35. ANS (D) Solution:



Ques 36. ANS (B) Solution:

Ques 37. ANS (C) Solution:

Ques 38. ANS (D) Solution:

Ques 39. ANS (D) Solution:

Ques 40. ANS (D) Solution:

Ques 41. ANS (A) Solution:

Ques 42. ANS (C) Solution:

Ques 43. ANS (A) Solution:

Ques 44. ANS (C) Solution:

Ques 45. ANS (B) Solution:

Ques 46. ANS (A) Solution:



Ques 47. ANS (B) Solution:

Ques 48. ANS (A) Solution:

Ques 49. ANS (B) Solution:

Ques 50. ANS (C) Solution:

Ques 51. ANS (C) Solution:

Ques 52. ANS (D) Solution:

Ques 53. ANS (C) Solution:

Ques 54. ANS (B) Solution:

Ques 55. ANS (B) Solution:

Ques 56. ANS (A) Solution:



Ques 57. ANS (A) Solution:

Ques 58. ANS (D) Solution:

Ques 59. ANS (A) Solution:

Ques 60. ANS (A) Solution:

Ques 61. ANS (B) Solution:

Ques 62. ANS (C) Solution:

Ques 63. ANS (B) Solution:

Ques 64. ANS (D) Solution:



Ques 65. ANS (D) Solution:

Ques 66. ANS (B) Solution:

Ques 67. ANS (A) Solution:

Ques 68. ANS (C) Solution:

Ques 69. ANS (C) Solution:

Ques 70. ANS (C) Solution:

Ques 71. ANS (B) Solution:

Ques 72. ANS (D) Solution:

Ques 73. ANS (B) Solution:

Ques 74. ANS (C) Solution:



Ques 75. ANS (D) Solution:

Ques 76. ANS (B) Solution:

Ques 77. ANS (C) Solution:

Ques 78. ANS (D) Solution:

Ques 79. ANS (D) Solution:

Ques 80. ANS (B) Solution:

Ques 81. ANS (A) Solution:

Ques 82. ANS (D) Solution:

Ques 83. ANS (A) Solution:

Ques 84. ANS (B) Solution:

Ques 85. ANS (A) Solution:

Ques 86. ANS (A) Solution:



Ques 87. ANS (B) Solution:

Ques 88. ANS (D) Solution:

Ques 89. ANS (A) Solution:

Ques 90. ANS (A) Solution:

Ques 91. ANS (A) Solution:

Ques 92. ANS (A) Solution:

Ques 93. ANS (B) Solution:

Ques 94. ANS (A) Solution:



Ques 95. ANS (A) Solution:

Ques 96. ANS (B) Solution:

Ques 97. ANS (B) Solution:

Ques 98. ANS (D) Solution:

Ques 99. ANS (D) Solution:

Ques 100. ANS (D) Solution:



Ques 1. ANS (A) Solution:

Ques 2. ANS (C) Solution:

Ques 3. ANS (B) Solution:

Ques 4. ANS (A) Solution:

Ques 5. ANS (C) Solution:

Ques 6. ANS (D) Solution:

Ques 7. ANS (C) Solution:

Ques 8. ANS (B) Solution:

SOLUTION, Discount



Ques 9. ANS (C) Solution:

Ques 10. ANS (C) Solution:

Ques 11. ANS (B) Solution:

Ques 12. ANS (C) Solution:

Ques 13. ANS (D) Solution:

Ques 14. ANS (B) Solution:

Ques 15. ANS (D) Solution:

Ques 16. ANS (C) Solution:

Ques 17. ANS (B) Solution:

Ques 18. ANS (C) Solution:

Ques 19. ANS (C) Solution:



Ques 20. ANS (D) Solution:

Ques 21. ANS (A) Solution:

Ques 22. ANS (C) Solution:

Ques 23. ANS (C) Solution:

Ques 24. ANS (D) Solution:

Ques 25. ANS (A) Solution:

Ques 26. ANS (C) Solution:

Ques 27. ANS (A) Solution:

Ques 28. ANS (C) Solution:

Ques 29. ANS (C) Solution:



Ques 30. ANS (B) Solution:

Ques 31. ANS (D) Solution:

Ques 32. ANS (A) Solution:

Ques 33. ANS (A) Solution:

Ques 34. ANS (A) Solution:

Ques 35. ANS (D) Solution:

Ques 36. ANS (C) Solution:

Ques 37. ANS (B) Solution:

Ques 38. ANS (B) Solution:

Ques 39. ANS (C) Solution:

Ques 40. ANS (B) Solution:



Ques 41. ANS (B) Solution:

Ques 42. ANS (B) Solution:

Ques 43. ANS (C) Solution:

Ques 44. ANS (C) Solution:

Ques 45. ANS (B) Solution:

Ques 46. ANS (A) Solution:

Ques 47. ANS (B) Solution:



Ques 48. ANS (D) Solution:

Ques 49. ANS (C) Solution:

Ques 50. ANS (C) Solution:

Ques 51. ANS (B) Solution:

Ques 52. ANS (A) Solution:

Ques 53. ANS (C) Solution:

Ques 54. ANS (B) Solution:

Ques 55. ANS (A) Solution:



Ques 1. ANS (B) Solution:

Ques 2. ANS (C) Solution:

Ques 3. ANS (A) Solution:

Ques 4. ANS (A) Solution:

Ques 5. ANS (C) Solution:

Ques 6. ANS (D) Solution:

Ques 7. ANS (D) Solution:

Ques 8. ANS (C) Solution:

Ques 9. ANS (B) Solution:

Ques 10. ANS (B) Solution:

Ques 11. ANS (B) Solution:

Ques 12. ANS (B) Solution:

SOLUTION, Ratio & Proportion



Ques 13. ANS (A) Solution:

Ques 14. ANS (B) Solution:

Ques 15. ANS (B) Solution:

Ques 16. ANS (D) Solution:

Ques 17. ANS (C) Solution:

Ques 18. ANS (D) Solution:

Ques 19. ANS (C) Solution:

Ques 20. ANS (D) Solution:

Ques 21. ANS (B) Solution:
1:5 = 1/5 = 0.2
Ques 22. ANS (B) Solution:

Ques 23. ANS (D) Solution:

Ques 24. ANS (C) Solution:



Ques 25. ANS (D) Solution:

Ques 26. ANS (C) Solution:

Ques 27. ANS (C) Solution:

Ques 28. ANS (C) Solution:
मान लीजिए सैम की उम S और एलेक की उम A है। दी गई िानकारी के
अनुसार, उनकी उम का अनुपात 3:4 है, जिसका अर् है:
एस/ए = 3/4
हम यह भी िानते है जक सैम 15 वर् का है, इसजलए S = 15.
अब, हम A के जलए हल कर सकते है:
15/ए = 3/4
A का मान जात करने के जलए, हम क्स-गुणा कर सकते है और A के जलए
हल कर सकते है:
4 * 15 = 3 * ए
60 = 3ए
अब, A जात करने के जलए दोनों पकों को 3 से जवभाजित करे:
ए = 60/3
ए = 20
तो, एलेक 20 साल का है।
Let's denote Sam's age as S and Alex's age as A. According to
the given information, the ratio of their ages is 3:4, which
means:
S/A = 3/4
We also know that Sam is 15 years old, so S = 15.
Now, we can solve for A:
15/A = 3/4
To find the value of A, we can cross-multiply and solve for A:
4 * 15 = 3 * A
60 = 3A
Now, divide both sides by 3 to find A:
A = 60 / 3
A = 20
So, Alex is 20 years old.
Ques 29. ANS (A) Solution:

Ques 30. ANS (C) Solution:

Ques 31. ANS (B) Solution:

Ques 32. ANS (D) Solution:

Ques 33. ANS (B) Solution:

Ques 34. ANS (A) Solution:



Ques 35. ANS (B) Solution:

Ques 36. ANS (B) Solution:

Ques 37. ANS (C) Solution:

Ques 38. ANS (A) Solution:

Ques 39. ANS (B) Solution:

Ques 40. ANS (A) Solution:

Ques 41. ANS (C) Solution:

Ques 42. ANS (D) Solution:

Ques 43. ANS (D) Solution:



Ques 44. ANS (B) Solution:

Ques 45. ANS (C) Solution:

Ques 46. ANS (A) Solution:

Ques 47. ANS (B) Solution:

Ques 48. ANS (B) Solution:

Ques 49. ANS (C) Solution:

Ques 50. ANS (B) Solution:

Ques 51. ANS (D) Solution:

Ques 52. ANS (C) Solution:

Ques 53. ANS (C) Solution:

Ques 54. ANS (C) Solution:



Ques 55. ANS (C) Solution:

Ques 56. ANS (B) Solution:

Ques 57. ANS (C) Solution:

Ques 58. ANS (B) Solution:

Ques 59. ANS (B) Solution:

Ques 60. ANS (D) Solution:

Ques 61. ANS (C) Solution:

Ques 62. ANS (A) Solution:

Ques 63. ANS (B) Solution:



Ques 64. ANS (C) Solution:

Ques 65. ANS (B) Solution:

Ques 66. ANS (D) Solution:

Ques 67. ANS (A) Solution:

Ques 68. ANS (A) Solution:

Ques 69. ANS (A) Solution:

Ques 70. ANS (D) Solution:

Ques 71. ANS (C) Solution:

Ques 72. ANS (C) Solution:

Ques 73. ANS (A) Solution:

Ques 74. ANS (D) Solution:

Ques 75. ANS (C) Solution:

Ques 76. ANS (B) Solution:



Ques 77. ANS (A) Solution:

Ques 78. ANS (D) Solution:

Ques 79. ANS (D) Solution:

Ques 80. ANS (A) Solution:

Ques 81. ANS (A) Solution:

Ques 82. ANS (D) Solution:

Ques 83. ANS (B) Solution:

Ques 84. ANS (D) Solution:

Ques 85. ANS (B) Solution:

Ques 86. ANS (D) Solution:

Ques 87. ANS (B) Solution:

Ques 88. ANS (D) Solution:

Ques 89. ANS (B) Solution:



Ques 90. ANS (C) Solution:



Ques 1. ANS (C) Solution:

Ques 2. ANS (D) Solution:

Ques 3. ANS (B) Solution:

Ques 4. ANS (D) Solution:

Ques 5. ANS (B) Solution:

Ques 6. ANS (D) Solution:

Ques 7. ANS (D) Solution:
सुरभि द्र् उद्य मे लय्यी ययी कुल पँूजी =
5×6000 30000
उर व् द्र् उद्य मे लय्यी ययी कुल पँूजी = 6 x 5000 = 30000
:: सुरभि और उर व् द्र् उद्य मे लय्यी ययी पँूजी बर्बर है।
Total capital invested by Surbhi in the industry =
5×6000 30000
Total capital invested by Urwa in the industry = 6 x 5000 =
30000
:: The capital invested in the industry by Surbhi and Urwa is
equal.
Ques 8. ANS (B) Solution:

Ques 9. ANS (D) Solution:

SOLUTION, Partnership



Ques 10. ANS (A) Solution:

Ques 11. ANS (C) Solution:

Ques 12. ANS (B) Solution:

Ques 13. ANS (C) Solution:

Ques 14. ANS (B) Solution:

Ques 15. ANS (C) Solution:

Ques 16. ANS (A) Solution:

Ques 17. ANS (B) Solution:

Ques 18. ANS (D) Solution:

Ques 19. ANS (C) Solution:



Ques 20. ANS (D) Solution:

Ques 21. ANS (B) Solution:

Ques 22. ANS (B) Solution:

Ques 23. ANS (A) Solution:
जॉन के ल्ि क् भहस् = (जॉन क् भनरेश / कुल भनरेश) * कुल ल्ि
ल्ि मे जॉन क् भहस् = ($6,000 / ($6,000 + $4,000)) * $3,000
ल्ि मे जॉन क् भहस् = ($6,000 / $10,000) * $3,000
ल्ि मे जॉन क् भहस् = (3/5) * $3,000
ल्ि मे जॉन क् भहस् = $1,500
John's share of the profit = (John's investment / Total
investment) * Total profit
John's share of the profit = ($6,000 / ($6,000 + $4,000)) *
$3,000
John's share of the profit = ($6,000 / $10,000) * $3,000
John's share of the profit = (3/5) * $3,000
John's share of the profit = $1,500
Ques 24. ANS (B) Solution:

Ques 25. ANS (C) Solution:

Ques 26. ANS (D) Solution:

Ques 27. ANS (C) Solution:

Ques 28. ANS (D) Solution:



Ques 29. ANS (A) Solution:

Ques 30. ANS (B) Solution:

Ques 31. ANS (D) Solution:

Ques 32. ANS (A) Solution:

Ques 33. ANS (A) Solution:
प््नुस्र, A द्र् 12 महीने के भलए भकय् यय् भनरेश= `35000 B द्र् 12
– 5 = 7 महीने के भलए भकय् यय् भनरेश = ` 50000 ∴ ल्ि क् अनुप्त =
उनके द्र् भकए यए भनरेश क् अनुप्त = 12 × 35000 : 7 × 50000 =
6 : 5
Ques 34. ANS (C) Solution:
P तथ् Q के ल्ि क् अनुप्त = 4 × 1 : 5 × 2 = 4 : 10 = 2 : 5
Ques 35. ANS (A) Solution:

Ques 36. ANS (D) Solution:

Ques 37. ANS (B) Solution:

Ques 38. ANS (D) Solution:

Ques 39. ANS (B) Solution:

Ques 40. ANS (D) Solution:

Ques 41. ANS (A) Solution:

Ques 42. ANS (A) Solution:

Ques 43. ANS (C) Solution:



Ques 44. ANS (D) Solution:

Ques 45. ANS (B) Solution:

Ques 46. ANS (D) Solution:
म्न् A क् भमली धनर्भश = 20x तथ् B क् भमली धनर्भश = 23x
प््नुस्र, 20x + 23x = 21500 43x = 21500 x = 500 A की धनर्भश
= 20x = 20×500 = 10,000 B की धनर्भश = 23x = 23×500 =
11,500 द्न के ब्द A की धनर्भश = 10,000 – 1000 = 9000 द्न के
ब्द B की धनर्भश = 11500 – 1000 = 10500 अिीष अनुप्त = 9000 :
10500 = 6 : 7
Ques 47. ANS (D) Solution:

Ques 48. ANS (A) Solution:

Ques 49. ANS (B) Solution:

Ques 50. ANS (D) Solution:



Ques 1. ANS (A) Solution:

Ques 2. ANS (D) Solution:

Ques 3. ANS (C) Solution:

Ques 4. ANS (D) Solution:

Ques 5. ANS (B) Solution:

Ques 6. ANS (D) Solution:

Ques 7. ANS (C) Solution:

Ques 8. ANS (B) Solution:

SOLUTION, Work & Time



Ques 9. ANS (C) Solution:

Ques 10. ANS (C) Solution:

Ques 11. ANS (A) Solution:

Ques 12. ANS (B) Solution:

Ques 13. ANS (B) Solution:

Ques 14. ANS (C) Solution:

Ques 15. ANS (D) Solution:

Ques 16. ANS (D) Solution:

Ques 17. ANS (D) Solution:

Ques 18. ANS (A) Solution:

Ques 19. ANS (C) Solution:



Ques 20. ANS (C) Solution:

Ques 21. ANS (A) Solution:

Ques 22. ANS (C) Solution:

Ques 23. ANS (A) Solution:

Ques 24. ANS (D) Solution:

Ques 25. ANS (C) Solution:

Ques 26. ANS (A) Solution:

Ques 27. ANS (A) Solution:

Ques 28. ANS (B) Solution:



Ques 29. ANS (C) Solution:

Ques 30. ANS (B) Solution:

Ques 31. ANS (C) Solution:

Ques 32. ANS (C) Solution:

Ques 33. ANS (D) Solution:

Ques 34. ANS (B) Solution:

Ques 35. ANS (A) Solution:

Ques 36. ANS (D) Solution:



Ques 37. ANS (A) Solution:

Ques 38. ANS (B) Solution:

Ques 39. ANS (C) Solution:

Ques 40. ANS (A) Solution:

Ques 41. ANS (D) Solution:

Ques 42. ANS (A) Solution:

Ques 43. ANS (A) Solution:

Ques 44. ANS (A) Solution:



Ques 45. ANS (A) Solution:

Ques 46. ANS (C) Solution:

Ques 47. ANS (B) Solution:

Ques 48. ANS (B) Solution:

Ques 49. ANS (B) Solution:

Ques 50. ANS (B) Solution:

Ques 51. ANS (C) Solution:

Ques 52. ANS (B) Solution:

Ques 53. ANS (C) Solution:



Ques 54. ANS (A) Solution:

Ques 55. ANS (C) Solution:

Ques 56. ANS (D) Solution:

Ques 57. ANS (A) Solution:

Ques 58. ANS (C) Solution:

Ques 59. ANS (B) Solution:

Ques 60. ANS (C) Solution:

Ques 61. ANS (B) Solution:
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समय = 15/12 वर्, दर = 7.5%
दूसरा समय = 8/12 वर् और दर = 12.5%
माना कि मूलधन x रुयय है
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SI = Prt/100
प् िय अनुसार
(P × 7.5 × 15) / (12 × 100) – (P × 12.5 × 8) / (12 × 100) = 32.50
⇒ (112.5P – 100P) = 32.50 × 12 × 100

⇒ P = 32.50 × 12 × 100/12.5
∴ P = 3120 रुयय
Time = 15/12 years, Rate = 7.5%
Second time = 8/12 years and rate = 12.5%
Let the principal amount be Rs x
as we know,
SI=Prt/100
according to the question
(P × 7.5 × 15) / (12 × 100) – (P × 12.5 × 8) / (12 × 100) = 32.50
⇒ (112.5P – 100P) = 32.50 × 12 × 100
⇒ P = 32.50 × 12 × 100/12.5
∴ P = Rs 3120
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माना, पुत के जन समय पपता की आयु = 2x
वर् पुत का जन के समय आयु = x
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च ूंर्कि  X का मान 5 से कम है लेर्कन र्नर्ित नह ूं है र्कि  X का मान धनात्मक 

होगा र्क ऋणात्मक। अतः  र्िये गये व्यूंजक के मान का र्चन्ह र्नधािररत नह ूं 

र्कया जा सकता है। 

Since the value of X is less than 5 but it is not certain whether 

the value of X will be positive or negative. Therefore, the sign 

of the value of the given expression cannot be determined. 

Ques 127. ANS (D) Solution:    



 

Ques 128. ANS (C) Solution:    

 

Ques 129. ANS (A) Solution:    

 

Ques 130. ANS (D) Solution:    

 

 



 

 

 

Ques 1. ANS (A) Solution:    

 

Ques 2. ANS (D) Solution:    

वेन आरेख से प्रशिक्षण सत्र में कम से कम एक सत्र में भाग लेने वाले छात्ररों 

की सोंख्या = 10 + 12 + 10 = 32 

From Venn diagram, number of students attending at least one 

session in the training session = 10 + 12 + 10 = 32 

Ques 3. ANS (A) Solution:    

खेल N खेलने वाले छात्ररों की कुल सोंख्या = 41 + 8 + 6 + 9 = 64 

Total number of students playing game N = 41 + 8 + 6 + 9 = 

64 

Ques 4. ANS (C) Solution:    

एक खेल खेलने वाले शवद्याशथियरों की सोंख्या= 11 + 41 + 18 = 70 

Number of students playing a game = 11 + 41 + 18 = 70 

Ques 5. ANS (C) Solution:    

वेन आरेख से स्पष्ट है शक जर केवल मेहनती है लेशकन ईमानदार या कुिल 

नही ों है = c - ( v+s+t) 

It is clear from the Venn diagram that one who is only 

hardworking but not honest or efficient = c - ( v+s+t) 

Ques 6. ANS (C) Solution:    

शदए गए वेन आरेख से स्पष्ट है शक खेल L खेलने वाले छात्ररों की कुल सोंख्या= 

18+7+6+9= 40. 

From the given Venn diagram it is clear that total number of 

students playing game L= 18+7+6+9= 40 

Ques 7. ANS (B) Solution:    

बॉसे्कट बाल खेलने वाले शवद्याशथियरों की सोंख्या = 20+14+13+15 = 62 

Number of students playing basketball = 20+14+13+15 = 62 

Ques 8. ANS (B) Solution:    

ग्राफ के अनुसार F खेल खेलने वाले शवद्याशथियरों की सोंख्या = 9+12+15+ 

13 = 49 

F खेल खेलने वाले शवद्याशथियरों की कुल सोंख्या = 49 

According to the graph, number of students playing game F = 

9+12+15+ 13 = 49 

Total number of students playing F game = 49 

Ques 9. ANS (B) Solution:    

ऐसे छात्ररों की सोंख्या जर शक बॉसे्कटबॉल खेलना पसोंद करते है परनु्त टेशनस 

नही = 12 + 12 = 24 

Number of students who like to play basketball but not tennis 

= 12 + 12 = 24 

 

 

 

Ques 10. ANS (B) Solution:    

शवद्याशथियरों की सोंख्या जर शसपिâ एक परीक्षा में बैठे है = 50 – (10 + 5 + 12 

+ 10) = 13 

Number of students who appeared in only one examination = 

50 – (10 + 5 + 12 + 10) = 13 

Ques 11. ANS (B) Solution:    

एक उपचार का चयन करने वाले ररशगयरों की सोंख्या = 50 – (4 + 5 + 5 + 

4) = 50 – 18 = 32 

Number of patients selecting one treatment = 50 – (4 + 5 + 5 

+ 4) = 50 – 18 = 32 

Ques 12. ANS (A) Solution:    

शवके्रता द्वारा खरीदा गया ब्राण्ड A प्रकार का शबसु्कट = 2 + 4 + 5 + 5 = 

16 

Brand A type biscuits purchased by the seller = 2 + 4 + 5 + 5 = 

16 

Ques 13. ANS (B) Solution:    

हॉकी (H) खेलने वाले कुल लड़करों की सोंख्या = 12+15+12+14 = 

38+15 = 53 

Total number of boys playing Hockey (H) = 12+15+12+14 = 

38+15 = 53 

Ques 14. ANS (A) Solution:    

टेशनस खेलने वालरों की सोंख्या जर बासे्कटबॉल नही ों खेलते हैं। = 10+10 

=20 

The number of people who play tennis who do not play 

basketball. = 10+10 =20 

Ques 15. ANS (D) Solution:    

शदए गए ऑकड़रों से, केवल एक शवषय पढ़ने वाले शवद्याशथियरों की सोंख्या = 23 

+ 32 + 9 = 64 

From the given data, number of students studying only one 

subject = 23 + 32 + 9 = 64 

Ques 16. ANS (C) Solution:    

खेल M खेलने वाले छात्ररों की कुल सोंख्या = 11 + 8 + 7 + 6 = 32 है। 

Total number of students playing game M = 11 + 8 + 7 + 6 = 

32. 

Ques 17. ANS (A) Solution:    

शदए गए वेन आरेख से स्पष्ट है शक केवल दर भाषाएँ पढ़ने वाले छात्ररों की 

सोंख्या = 20 + 5 + 7 = 32 

Ques 18. ANS (D) Solution:    

Q फुट बॉल और कबड्डी दरनरों खेल खेलता है लेशकन शक्रकेट नही ों खेलता है। 

Q plays both football and kabaddi but does not play cricket. 

Ques 19. ANS (D) Solution:    

वेन आरेख के अनुसार- कक्षा में 3 खेल M, N व L खेलने वाले छात्ररों की 

सोंख्या = 6 नू्यनतम दर खेल खेलने वाले छात्ररों की सोंख्या = 7 + 8 + 9 = 

24 अत: नू्यनतम दर खेल खेलने वाले कुल छात्र = 24 + 6 = 30 

According to Venn diagram - Number of students playing 3 

games M, N and L in the class = 6 Number of students playing 

at least two games = 7 + 8 + 9 = 24 Hence, total students 

playing at least two games = 24 + 6 = 30 

Ques 20. ANS (C) Solution:    

SOLUTION , Venn Diagram 



शदये गये वेन आरेख से- N एवों L खेल खेलने वाले परों तु M खेल न खेलने 

वाले शवद्याशथियरों की कुल सोंख्या = 9 

From the given Venn diagram- Total number of students 

playing N and L games but not playing M game = 9 

Ques 21. ANS (D) Solution:    

दर भाषाओों का अध्ययन करने वाले छात्ररों की कुल सोंख्या 

= 20+5+7  

= 32 

Total number of students studying two languages 

= 20+5+7 

= 32 

Ques 22. ANS (B) Solution:    

दर खेल खेलने वाले छात्ररों की कुल सोंख्या = 12 + 13 + 14 = 39 

Total number of students playing two games = 12 + 13 + 14 = 

39 

Ques 23. ANS (A) Solution:    

प्रश्नानुसार- केवल दर प्रशिक्षण सत्ररों में उपस्थित छात्ररों की सोंख्या = 5 + 4 + 

4 = 13 

Ques 24. ANS (B) Solution:    

 

Ques 25. ANS (D) Solution:    

ग्राफ के अनुसार C और A खेल कर पसोंद करने वाले परनु्त B खेल कर न 

पसोंद करने वाले छात्ररों की सोंख्या = 10+13 = 23 

According to the graph, number of students who like games C 

and A but do not like game B = 10+13 = 23. 

Ques 26. ANS (D) Solution:    

अशधकतम दर खेल पोंसद करने वाले छात्ररों की कुल सोंख्या = एक खेल पसोंद 

करने वाले + दर खेल पसोंद करने वाले 9 + 12 + 20 + 12 + 13 + 14 = 

80 

Total number of students who like maximum two sports = 

Those who like one sport + Those who like two sports 9 + 12 + 

20 + 12 + 13 + 14 = 80 

Ques 27. ANS (A) Solution:    

KKR और केवल एक अन्य टीमरों की समथिन करने वाले टीमरों की सोंख्या = 5 

+ 1 + 2 = 8 

Number of teams supporting KKR and only one other team = 5 

+ 1 + 2 = 8 

Ques 28. ANS (A) Solution:    

शदए गए वेन आरेख से स्पष्ट है शक स्वि लेशकन बूढे़ लरगरों की सोंख्या 4 है। 

From the given Venn diagram it is clear that the number of 

healthy but old people is 4. 

Ques 29. ANS (D) Solution:    

दरनरों खेलरों कर पसन्द करने वाले छात्ररों की सोंख्या = 12 + 15 +10=37 

Number of students who like both the games = 12 + 15 

+10=37 

Ques 30. ANS (C) Solution:    

कम से कम दर खेल खेलने वाले शवद्याशथियरों की सोंख्या = 12 + 13 + 15 + 

14 = 54 

Number of students playing at least two sports = 12 + 13 + 15 

+ 14 = 54 

Ques 31. ANS (C) Solution:    

F और H खेलने वाले शकनु्त B न खेलने वाले छात्ररों की सोंख्या = 12 

Number of students playing F and H but not B = 12 

Ques 32. ANS (C) Solution:    

केवल दर सत्र में भाग लेने वाले छात्ररों की सोंख्या = कुल छात्ररों की सोंख्या - 

(एक या एक से अशधक सत्ररों में भाग लेने वाले छात्ररों की सोंख्या) = 50 – (12 

+ 10 + 10 + 5) = 50 – 37 = 13 

Number of students who attended only two sessions = Total 

number of students – (No. of students who attended one or 

more sessions) = 50 – (12 + 10 + 10 + 5) = 50 – 37 = 13 

Ques 33. ANS (D) Solution:    

शदए गए शचत्र से स्पष्ट है शक F और B खेलने वाले लेशकन H न खेलने वाले 

शवद्याशथियरों की कुल सोंख्या = 13 है। 

Ques 34. ANS (A) Solution:    

शदए गए वेन आरेख से, बैडशमोंटन या बासे्कटबॉल खेलने वाले परनु्त टेशनस न 

खेलने वाले स्थखलाश डयरों की सोंख्या = 13+12+12 = 37 

From the given Venn diagram, number of players playing 

badminton or basketball but not tennis = 13+12+12 = 37 

Ques 35. ANS (C) Solution:    

उपयुिक्त वेन आरेख से स्पष्ट है शक फ्रें च तथा सै्पशनि पढ़ने वाले लेशकन 

जापानी न पढ़ने वाले छात्ररों की सोंख्या = 20 

It is clear from the above Venn diagram that the number of 

students who study French and Spanish but not Japanese = 20. 

Ques 36. ANS (A) Solution:    

से्पशनि और जापानी का अध्ययन करने वाले छात्र जर फ्रें च का अध्ययन नही ों 

करते = 7 

Students studying Spanish and Japanese who do not study 

French = 7 

Ques 37. ANS (D) Solution:    

वेन आरेख से स्पष्ट है शक- M और L खेल खेलने वाले तथा N खेल न खेलने 

वाले शवद्याशथियरों की कुल सोंख्या = 7 

It is clear from the Venn diagram that- Total number of 

students playing M and L games and not playing N games = 7 

Ques 38. ANS (C) Solution:    



 

Ques 39. ANS (B) Solution:    

उपररक्त शचत्र से स्पष्ट है शक तीनर भाषाओों का अध्ययन करने वाले छात्ररों की 

सोंख्या 4 है। 

It is clear from the above figure that the number of students 

studying all three languages is 4. 

Ques 40. ANS (C) Solution:    

शदए गए आरेख से अोंगे्रजी, गशणत और सामाशजक शवज्ञान के कुल छात्ररों की 

सोंख्या ⇒ 16 + 14 + 9 + 18 + 15 + 19 + 13 + 12 + 20 + 18 + 13 

+ 16 = 183 अत: शवज्ञान वर्ग के छात्ररों कर छरड़कर बाकी सभी वगों के 

छात्ररों की सोंख्या 183 है। 

From the given diagram, total number of students of English, 

Mathematics and Social Science ⇒ 16 + 14 + 9 + 18 + 15 + 19 

+ 13 + 12 + 20 + 18 + 13 + 16 = 183 Hence, except the 

students of Science stream, The number of students of all 

classes is 183. 

Ques 41. ANS (A) Solution:    

शदए गए आकृशतयरों से यह स्पष्ट है शक आरेख का शहस्सा "R" उन लड़शकयरों 

का प्रशतशनशधत्व करता है, जर स्थखलाड़ी भी है और करच भी है। 

From the given figures it is clear that part “R” of the diagram 

represents girls who are both players and coaches. 

Ques 42. ANS (B) Solution:    

उपररक्त वेन आरेख से स्पष्ट है शक तीनरों खेलरों में भाग लेने वाले शवद्याशथियरों 

की कुल सोंख्या 6 है। 

It is clear from the above Venn diagram that the total number 

of students participating in all three sports is 6. 

Ques 43. ANS (A) Solution:    

चँूशक वेन आरेख में शदए गए अोंकरों का यरग 40 हैं अत: सभी स्थखलाड़ी कम से 

कम एक खेल पसोंद करते हैं। 

Since the sum of the numbers given in the Venn diagram is 40, 

hence all the players like at least one game. 

Ques 44. ANS (A) Solution:    

शसपिâ एक खेलने वाले छात्ररों की सोंख्या = 13 + 12 + 10 = 35 कम से कम 

दर खेल खेलने वाले छात्र = 12 + 10 + 15 = 37 तीनरों खेल खेलने वाले 

छात्ररों की सोंख्या = 5 अत: कम से कम एक खेल खेलने वाले छात्ररों की सोंख्या 

= 35 + 37 +5 = 77 

Number of students playing only one game = 13 + 12 + 10 = 

35 Students playing at least two games = 12 + 10 + 15 = 37 

Number of students playing all three games = 5 Hence, 

number of students playing at least one game Number of = 35 

+ 37 +5 = 77 

Ques 45. ANS (A) Solution:    

 

Ques 46. ANS (A) Solution:    

M, N तथा L कक्षा में कुल छात्ररों की सोंख्या • 11 + 8 + 41 + 6 +7 + 9 + 

18 = 100 

Total number of students in class M, N and L • 11 + 8 + 41 + 6 

+7 + 9 + 18 = 100 

Ques 47. ANS (B) Solution:    

 

Ques 48. ANS (A) Solution:    

 

 



 

 

 

Ques 1. ANS (B) Solution:    

 

Ques 2. ANS (B) Solution:    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ques 3. ANS (D) Solution:    

 

Ques 4. ANS (B) Solution:    

 

Ques 5. ANS (C) Solution:    

 

Ques 6. ANS (C) Solution:    

SOLUTION , Trigonometry 



 

Ques 7. ANS (A) Solution:    

 

Ques 8. ANS (C) Solution:    

 

Ques 9. ANS (B) Solution:    

 

Ques 10. ANS (B) Solution:    

 

Ques 11. ANS (C) Solution:    

 

Ques 12. ANS (B) Solution:    

 

Ques 13. ANS (B) Solution:    

 

Ques 14. ANS (A) Solution:    

 

Ques 15. ANS (C) Solution:    



 

Ques 16. ANS (C) Solution:    

 

Ques 17. ANS (A) Solution:    

 

Ques 18. ANS (B) Solution:    

 

Ques 19. ANS (B) Solution:    

 

Ques 20. ANS (C) Solution:    

 

Ques 21. ANS (B) Solution:    



 

Ques 22. ANS (A) Solution:    

 

Ques 23. ANS (C) Solution:    

 

Ques 24. ANS (C) Solution:    

 

Ques 25. ANS (C) Solution:    

 

Ques 26. ANS (A) Solution:    

 

Ques 27. ANS (A) Solution:    

 

Ques 28. ANS (C) Solution:    



 

Ques 29. ANS (A) Solution:    

 

Ques 30. ANS (D) Solution:    

 

Ques 31. ANS (A) Solution:    

 

Ques 32. ANS (C) Solution:    

 

Ques 33. ANS (D) Solution:    

 

Ques 34. ANS (A) Solution:    

 

Ques 35. ANS (C) Solution:    

 

Ques 36. ANS (B) Solution:    

 

Ques 37. ANS (D) Solution:    



 

Ques 38. ANS (D) Solution:    

 

Ques 39. ANS (B) Solution:    

 

Ques 40. ANS (B) Solution:    

 

Ques 41. ANS (B) Solution:    

 

Ques 42. ANS (B) Solution:    

 

Ques 43. ANS (C) Solution:    



 

Ques 44. ANS (B) Solution:    

 

Ques 45. ANS (A) Solution:    

 

Ques 46. ANS (B) Solution:    

 

Ques 47. ANS (A) Solution:    

 

Ques 48. ANS (C) Solution:    

 

Ques 49. ANS (D) Solution:    

 

Ques 50. ANS (C) Solution:    

 

Ques 51. ANS (A) Solution:    

 

Ques 52. ANS (A) Solution:    



  

Ques 53. ANS (C) Solution:    

Ques 54. ANS (D) Solution:    

 

Ques 55. ANS (A) Solution:    

 

Ques 56. ANS (D) Solution:    

sin ( 90° - θ) = cosθ 

Ques 57. ANS (C) Solution:    



 

Ques 58. ANS (C) Solution:    

 

Ques 59. ANS (D) Solution:    

 

Ques 60. ANS (B) Solution:    

 



Ques 61. ANS (D) Solution:    

 

Ques 62. ANS (A) Solution:    

 

Ques 63. ANS (D) Solution:    

 

Ques 64. ANS (D) Solution:    

 

Ques 65. ANS (B) Solution:    

 

Ques 66. ANS (A) Solution:    

 

Ques 67. ANS (B) Solution:    

 

Ques 68. ANS (C) Solution:    

cosec (90° -θ)= sec θ 

Ques 69. ANS (D) Solution:    

Cos0° = 1 

Ques 70. ANS (C) Solution:    

 

Ques 71. ANS (C) Solution:    

 

Ques 72. ANS (C) Solution:    

 

Ques 73. ANS (A) Solution:    



 

Ques 74. ANS (D) Solution:    

 

Ques 75. ANS (A) Solution:    

 

Ques 76. ANS (D) Solution:    

 

Ques 77. ANS (A) Solution:    

 

Ques 78. ANS (B) Solution:    

 

Ques 79. ANS (B) Solution:    

 

Ques 80. ANS (A) Solution:    

 

Ques 81. ANS (C) Solution:    

 

Ques 82. ANS (D) Solution:    

 



Ques 83. ANS (A) Solution:    

 

Ques 84. ANS (C) Solution:    

 

Ques 85. ANS (A) Solution:    

 

Ques 86. ANS (A) Solution:    

 

Ques 87. ANS (B) Solution:    

 

Ques 88. ANS (A) Solution:    

 

Ques 89. ANS (D) Solution:    

 

Ques 90. ANS (D) Solution:    

 

Ques 91. ANS (D) Solution:    



 

Ques 92. ANS (B) Solution:    

 

Ques 93. ANS (D) Solution:    

 

Ques 94. ANS (A) Solution:    

 

Ques 95. ANS (B) Solution:    



 

Ques 96. ANS (C) Solution:    

 

Ques 97. ANS (B) Solution:    

 

Ques 98. ANS (B) Solution:    



 

Ques 99. ANS (D) Solution:    

 

Ques 100. ANS (A) Solution:    

 

 



 

 

 

Ques 1. ANS (B) Solution:    

 

Ques 2. ANS (D) Solution:    

 

Ques 3. ANS (D) Solution:    

 

 

 

 

 

 

 

Ques 4. ANS (C) Solution:    

 

Ques 5. ANS (D) Solution:    

 

Ques 6. ANS (B) Solution:    

 

Ques 7. ANS (B) Solution:    

SOLUTION , Co-ordinate Geometry 



 

Ques 8. ANS (D) Solution:    

 

Ques 9. ANS (B) Solution:    

 

Ques 10. ANS (B) Solution:    

 

Ques 11. ANS (B) Solution:    

 

Ques 12. ANS (C) Solution:    

 

Ques 13. ANS (A) Solution:    



 

Ques 14. ANS (D) Solution:    

 

Ques 15. ANS (D) Solution:    

 

Ques 16. ANS (B) Solution:    

 

Ques 17. ANS (B) Solution:    

 

Ques 18. ANS (B) Solution:    

 

Ques 19. ANS (D) Solution:    



 

Ques 20. ANS (B) Solution:    

 

Ques 21. ANS (D) Solution:    

 

Ques 22. ANS (B) Solution:    

 

Ques 23. ANS (C) Solution:    

 

Ques 24. ANS (B) Solution:    

 

Ques 25. ANS (B) Solution:    



 

Ques 26. ANS (B) Solution:    

 

Ques 27. ANS (A) Solution:    

 

Ques 28. ANS (D) Solution:    

 

Ques 29. ANS (B) Solution:    

 

Ques 30. ANS (D) Solution:    

 

Ques 31. ANS (C) Solution:    

 

Ques 32. ANS (A) Solution:    

 

Ques 33. ANS (C) Solution:    



 

Ques 34. ANS (A) Solution:    

 

Ques 35. ANS (C) Solution:    

 

Ques 36. ANS (B) Solution:    

 

Ques 37. ANS (D) Solution:    



 

Ques 38. ANS (A) Solution:    

Ques 39. ANS (D) Solution:    

 

Ques 40. ANS (C) Solution:    

△PQR में 

 

 



 

 

 

Ques 1. ANS (D) Solution:    

 

Ques 2. ANS (A) Solution:    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ques 3. ANS (C) Solution:    

 

Ques 4. ANS (A) Solution:    

 

Ques 5. ANS (C) Solution:    

SOLUTION , Geometry 



 

Ques 6. ANS (D) Solution:    

 

Ques 7. ANS (D) Solution:    

 

Ques 8. ANS (A) Solution:    

 

Ques 9. ANS (C) Solution:    

 

Ques 10. ANS (C) Solution:    



 

Ques 11. ANS (D) Solution:    

 

Ques 12. ANS (A) Solution:    

 



Ques 13. ANS (D) Solution:    

 

Ques 14. ANS (A) Solution:    

 

Ques 15. ANS (C) Solution:    

 

Ques 16. ANS (B) Solution:    

 

Ques 17. ANS (A) Solution:    

 

Ques 18. ANS (C) Solution:    



 

Ques 19. ANS (C) Solution:    

 

Ques 20. ANS (C) Solution:    

 

Ques 21. ANS (C) Solution:    

 

Ques 22. ANS (C) Solution:    

 

Ques 23. ANS (D) Solution:    



 

Ques 24. ANS (D) Solution:    

 

Ques 25. ANS (C) Solution:    

 

Ques 26. ANS (D) Solution:    

 

Ques 27. ANS (B) Solution:    

 

Ques 28. ANS (B) Solution:    

 

Ques 29. ANS (B) Solution:    

 

Ques 30. ANS (D) Solution:    

 

Ques 31. ANS (B) Solution:    



 

Ques 32. ANS (B) Solution:    

 

Ques 33. ANS (D) Solution:    

 

Ques 34. ANS (D) Solution:    

 

Ques 35. ANS (B) Solution:    

 

Ques 36. ANS (D) Solution:    

 

Ques 37. ANS (D) Solution:    

वगग तथा समचततगभतज दोनोों में सभी चारोों भतजाओों की लम्बाई समान होती है। 

लेककन वगग में प्रते्यक चारोों कोनोों का कोण समकोण होता है, जबकक 

समचततभतगज आमने-सामने के कोण समान होते हैं। 

In both square and rhombus all four sides have the same 

length. But in a square, each of the four corners is at a right 

angle, whereas in a rhombus, opposite angles are equal. 

Ques 38. ANS (A) Solution:    



 

Ques 39. ANS (C) Solution:    

 

Ques 40. ANS (D) Solution:    

 

Ques 41. ANS (C) Solution:    

 

Ques 42. ANS (A) Solution:    

 

Ques 43. ANS (A) Solution:    

 

Ques 44. ANS (C) Solution:    



 

Ques 45. ANS (B) Solution:    

 

Ques 46. ANS (B) Solution:    

 

Ques 47. ANS (D) Solution:    



 

Ques 48. ANS (D) Solution:    

 

Ques 49. ANS (A) Solution:    

 

Ques 50. ANS (D) Solution:    

 

Ques 51. ANS (C) Solution:    

 

Ques 52. ANS (C) Solution:    



 

Ques 53. ANS (B) Solution:    

 

Ques 54. ANS (B) Solution:    

 

Ques 55. ANS (C) Solution:    

 

Ques 56. ANS (D) Solution:    

 

Ques 57. ANS (C) Solution:    

 

Ques 58. ANS (C) Solution:    

एक समान्तर चततभतगज की घूणी समरूपता का क्रम 2 है। 

The order of rotational symmetry of a parallelogram is 2. 

Ques 59. ANS (A) Solution:    



 

Ques 60. ANS (C) Solution:    

 

Ques 61. ANS (D) Solution:    

 

Ques 62. ANS (C) Solution:    

एक समलम्ब की घूणी समरूपता (1) क्रम है। नोट- ककसी आकृकत को 

आोंकिक रूप से घतमाने पर यकद घतमाने के बाद भी आकृकत पहले जैसा ही 

कदखती है तो यह गतण घूणी समरूपता कहलाता है। 

The rotational symmetry of a trapezoid is (1) order. Note: If a 

shape is partially rotated and the shape still looks the same as 

before, then this property is called rotational symmetry. 

Ques 63. ANS (A) Solution:    

 

Ques 64. ANS (D) Solution:    

 



Ques 65. ANS (C) Solution:    

 

Ques 66. ANS (A) Solution:    

 

Ques 67. ANS (B) Solution:    

 

Ques 68. ANS (A) Solution:    

 

Ques 69. ANS (B) Solution:    

 

Ques 70. ANS (D) Solution:    

 

Ques 71. ANS (B) Solution:    

 

Ques 72. ANS (C) Solution:    



 

Ques 73. ANS (B) Solution:    

 

Ques 74. ANS (A) Solution:    

 

Ques 75. ANS (C) Solution:    

 

Ques 76. ANS (C) Solution:    



 

Ques 77. ANS (C) Solution:    

 

Ques 78. ANS (D) Solution:    

 

Ques 79. ANS (B) Solution:    

 

Ques 80. ANS (B) Solution:    

 

Ques 81. ANS (A) Solution:    

 

Ques 82. ANS (B) Solution:    

यकद वृत्त की जीवा के एक अन्तन्तम कबन्दत  से होती हुए रेखा और जीवा के बीच 

का कोण, एकान्तर खण्ड में जीवा द्वारा अोंतररत कोण के बराबर हो तो यह 

रेखा वृत्त की स्पिग रेखा होती है। माना वृत्त का केन्द्र है तथा AC इस वृत्त की 

जीवा है। कबन्दत C से जाती हुई एक सरलरेखा DE इस प्रकार खी ोंची गई है कक 



∠BCD = ∠BAC जहााँ ∠BAC एकान्तर वृत्तखण्ड में न्तित है। 

अत: ∠BAC = 72° 

If the angle between the line and the chord passing through an 

end point of the chord of the circle is equal to the angle 

subtended by the chord in the alternate segment, then this line 

is a tangent to the circle. Let is the center of the circle and AC is 

the chord of this circle. A straight line DE passing through point 

C is drawn such that ∠BCD = ∠BAC where ∠BAC lies in the 

alternate sector. 

Hence, ∠BAC = 72° 

Ques 83. ANS (D) Solution:    

ककसी वृत्त की जीवा द्वारा स्पिग रेखा के साथ बनाया गया कोण उस जीवा 

द्वारा वृत्त के एकान्तर खण्ड पर बने कोण के बराबर होता है। 

∠BAC = ∠BCD = 82° 

The angle made by a chord of a circle with the tangent line is 

equal to the angle made by that chord on alternate segments 

of the circle. 

∠BAC = ∠BCD = 82° 

Ques 84. ANS (C) Solution:    

 

Ques 85. ANS (D) Solution:    

 

Ques 86. ANS (C) Solution:    

 

Ques 87. ANS (D) Solution:    

 

Ques 88. ANS (D) Solution:    

 

Ques 89. ANS (C) Solution:    

 



Ques 90. ANS (A) Solution:    

 

 



 

 

 

Ques 1. ANS (C) Solution:    

 

Ques 2. ANS (D) Solution:    

 

Ques 3. ANS (A) Solution:    

 

 

 

 

Ques 4. ANS (A) Solution:    

 

Ques 5. ANS (B) Solution:    

 

Ques 6. ANS (B) Solution:    

 

Ques 7. ANS (B) Solution:    

SOLUTION , Elementary Statistics 



 

Ques 8. ANS (D) Solution:    

 

Ques 9. ANS (D) Solution:    

 

Ques 10. ANS (A) Solution:    

 

Ques 11. ANS (A) Solution:    

 

Ques 12. ANS (B) Solution:    

 

Ques 13. ANS (B) Solution:    

 

Ques 14. ANS (C) Solution:    

 

Ques 15. ANS (C) Solution:    



 

Ques 16. ANS (B) Solution:    

 

Ques 17. ANS (B) Solution:    

 

Ques 18. ANS (B) Solution:    

 

Ques 19. ANS (B) Solution:    

 

Ques 20. ANS (A) Solution:    

 

Ques 21. ANS (B) Solution:    

 

Ques 22. ANS (A) Solution:    

 

Ques 23. ANS (D) Solution:    

 

Ques 24. ANS (A) Solution:    



 

Ques 25. ANS (A) Solution:    

 

Ques 26. ANS (C) Solution:    

 

Ques 27. ANS (D) Solution:    

 

Ques 28. ANS (C) Solution:    

 

Ques 29. ANS (B) Solution:    

 

Ques 30. ANS (B) Solution:    

 

Ques 31. ANS (A) Solution:    

 

Ques 32. ANS (C) Solution:    

 

Ques 33. ANS (A) Solution:    



 

Ques 34. ANS (D) Solution:    

 

Ques 35. ANS (D) Solution:    

 

Ques 36. ANS (B) Solution:    

 

Ques 37. ANS (B) Solution:    

 

Ques 38. ANS (C) Solution:    

 

Ques 39. ANS (B) Solution:    



 

Ques 40. ANS (C) Solution:    

 

Ques 41. ANS (C) Solution:    

 

Ques 42. ANS (A) Solution:    

 

Ques 43. ANS (A) Solution:    

 

Ques 44. ANS (C) Solution:    



 

Ques 45. ANS (A) Solution:    

 

Ques 46. ANS (B) Solution:    

 

Ques 47. ANS (C) Solution:    

 

Ques 48. ANS (C) Solution:    

 

Ques 49. ANS (B) Solution:    

 

Ques 50. ANS (B) Solution:    

 

Ques 51. ANS (B) Solution:    

 

Ques 52. ANS (C) Solution:    



 

Ques 53. ANS (A) Solution:    

 

Ques 54. ANS (B) Solution:    

 

Ques 55. ANS (C) Solution:    

 

Ques 56. ANS (C) Solution:    

 

Ques 57. ANS (D) Solution:    

 

Ques 58. ANS (C) Solution:    

बहुलक (Mode) = सर्वाधधक आरृ्धि र्वलव अंक बहुलक = 4 

Mode = Highest frequency digit Mode = 4 

Ques 59. ANS (D) Solution:    



 

Ques 60. ANS (B) Solution:    

 

Ques 61. ANS (C) Solution:    

बहुलक कव तवत्पर्ा र्ह है धक जो संख्यव ज्यवदव बवर आर्ी हो अथर्व धजसकी 

आरृ्धि ज्यवदव हो। अत: धदरे् गरे् बहुलक में 3 की आरृ्धि ज्यवदव है। 

आंकड़ो ंकव बहुलक = 3 

Mode means the number which occurs more often or which 

has more frequency. Hence, the frequency of 3 is more in the 

given polymer. Mode of data = 3 

Ques 62. ANS (D) Solution:    

 

Ques 63. ANS (A) Solution:    

 

Ques 64. ANS (A) Solution:    

 

Ques 65. ANS (A) Solution:    

आंकड़े 12, 1, 10, 1, 9, 3, 4, 9, 7, 9 में 9 की बवरम्बवरतव सबसे अधधक (3 

बवर) है। अत: धदरे् गरे् आंकड़े कव बहुलक 9 है। 



In the figures 12, 1, 10, 1, 9, 3, 4, 9, 7, 9, 9 has the highest 

frequency (3 times). Hence, the mode of the given data is 9. 

Ques 66. ANS (C) Solution:    

 

Ques 67. ANS (C) Solution:    

 

Ques 68. ANS (C) Solution:    

 

Ques 69. ANS (B) Solution:    

आंकड़ो ंकव बहुलक = 52  

x – 3 = 52 

x = 55 

Mode of data = 52  

x – 3 = 52 

x = 55 

Ques 70. ANS (B) Solution:    

 

Ques 71. ANS (B) Solution:    

 

Ques 72. ANS (D) Solution:    

 

Ques 73. ANS (A) Solution:    

 

Ques 74. ANS (A) Solution:    

 

Ques 75. ANS (A) Solution:    



 

Ques 76. ANS (B) Solution:    

 

Ques 77. ANS (B) Solution:    

 

Ques 78. ANS (D) Solution:    

 

Ques 79. ANS (B) Solution:    

 

Ques 80. ANS (C) Solution:    

 

Ques 81. ANS (B) Solution:    



 

Ques 82. ANS (B) Solution:    

 

Ques 83. ANS (B) Solution:    

 

Ques 84. ANS (B) Solution:    

 

Ques 85. ANS (B) Solution:    

 

Ques 86. ANS (B) Solution:    

 

Ques 87. ANS (B) Solution:    

 

Ques 88. ANS (B) Solution:    

 

Ques 89. ANS (B) Solution:    

 

Ques 90. ANS (D) Solution:    

 

Ques 91. ANS (C) Solution:    

 

Ques 92. ANS (D) Solution:    



 

Ques 93. ANS (C) Solution:    

 

Ques 94. ANS (C) Solution:    

 

Ques 95. ANS (C) Solution:    

 

Ques 96. ANS (D) Solution:    

 

Ques 97. ANS (A) Solution:    

 

Ques 98. ANS (A) Solution:    

 

Ques 99. ANS (B) Solution:    

 

Ques 100. ANS (C) Solution:    

आंकड़ो कव पररसर = उच्चतम मवन – धनम्नतम मवन = 9 – 3 = 6 

Range of data = highest value – lowest value = 9 – 3 = 6 



 

 

 

Ques 1. ANS (B) Solution:    

 

Ques 2. ANS (A) Solution:    

 

Ques 3. ANS (A) Solution:    

 

Ques 4. ANS (C) Solution:    

 

Ques 5. ANS (A) Solution:    

 

Ques 6. ANS (C) Solution:    

माना कुल छात्र 100 है तब गगटार बजाने वाले छात्र= 25 वायगलन बजाने 

वाले छात्र = 16 अभीष्ट अनुपात = 25:16 

Let the total students be 100 then students playing guitar = 25 

students playing violin = 16 Required ratio = 25:16 

Ques 7. ANS (D) Solution:    

 

Ques 8. ANS (A) Solution:    

 

 

 

 

Ques 9. ANS (A) Solution:    

 

Ques 10. ANS (B) Solution:    

 

Ques 11. ANS (B) Solution:    

 

Ques 12. ANS (A) Solution:    

 

Ques 13. ANS (B) Solution:    

 

Ques 14. ANS (A) Solution:    

 

Ques 15. ANS (B) Solution:    

SOLUTION , Data Interpretation 



SRK = 25 % SK = 30 % SRK : SK = 25 : 30 = 5:6 

Ques 16. ANS (B) Solution:    

 

Ques 17. ANS (A) Solution:    

 

Ques 18. ANS (C) Solution:    

 

Ques 19. ANS (C) Solution:    

 

Ques 20. ANS (A) Solution:    

 

Ques 21. ANS (B) Solution:    

 

Ques 22. ANS (A) Solution:    

वर्ष 1999 और वर्ष 2001 में हुई टीवी सेट ों की गबक्री का य ग = 30,000 + 

18,000 = 48000  

अतः  48000 गबक्री वर्ष 1997 की गबक्री के बराबर है। 

Sum of sales of TV sets in the year 1999 and the year 2001 = 

30,000 + 18,000 = 48000 

Hence 48000 sales is equal to the sales of year 1997. 

Ques 23. ANS (D) Solution:    

कैल्शियम = 40% स गियम = 8% अत: कैल्शियम : स गियम = 40 : 8 = 

5 : 1 

Calcium = 40% Sodium = 8% So Calcium : Sodium = 40 : 8 = 5 

: 1 

Ques 24. ANS (B) Solution:    

 

Ques 25. ANS (D) Solution:    

 

Ques 26. ANS (A) Solution:    

 

Ques 27. ANS (D) Solution:    

 

Ques 28. ANS (C) Solution:    



 

Ques 29. ANS (D) Solution:    

 

Ques 30. ANS (B) Solution:    

 

Ques 31. ANS (C) Solution:    

 

Ques 32. ANS (B) Solution:    

 

Ques 33. ANS (D) Solution:    

 

Ques 34. ANS (B) Solution:    

 

Ques 35. ANS (C) Solution:    

 

Ques 36. ANS (B) Solution:    

 

Ques 37. ANS (D) Solution:    

 

Ques 38. ANS (B) Solution:    

2 वर्ष की अवगध में वे महीने गजनमें सल्िय ों के मूल्य समान रहे– अपै्रल, मई, 

जून, जुलाई, अकू्टबर अत: पााँच महीन ों तक सल्िय ों के मूूूल्य समान रहे। 

In a period of 2 years, the months in which the prices of 

vegetables remained the same – April, May, June, July, October, 

hence the prices of vegetables remained the same for five 

months. 

Ques 39. ANS (D) Solution:    

खेल की सोंख्या = 6 ग ल की कुल सोंख्या = 2 + 1 + 0 + 4 + 3 + 2 = 12 

गेम में औसत स्क र = 12/6 = 2 

Number of games = 6 Total number of goals = 2 + 1 + 0 + 4 + 

3 + 2 = 12 Average score in games = 12/6 = 2 

Ques 40. ANS (A) Solution:    

: गजम उपभ क्ताओों की सोंख्या = 300 गजम का िुल्क = 500 अत: गजम से 

प्रगतमाह की कमाई = 300 × 500 = 1,50,000 

Ques 41. ANS (C) Solution:    



 

Ques 42. ANS (D) Solution:    

Ques 43. ANS (B) Solution:    

 

Ques 44. ANS (D) Solution:    

 

Ques 45. ANS (C) Solution:    

 

Ques 46. ANS (A) Solution:    

 

Ques 47. ANS (D) Solution:    

वर्ष 2001 के दौरान वसु्तओों पर कों पनी का कुल खचष = 336 + 133 + 

3.68 + 36.4 + 88 = ` 597.08 लाख 

Total expenditure of the company on goods during the year 

2001 = 336 + 133 + 3.68 + 36.4 + 88 = ` 597.08 lakh 

Ques 48. ANS (C) Solution:    

 

Ques 49. ANS (B) Solution:    

 

Ques 50. ANS (B) Solution:    

 

Ques 51. ANS (C) Solution:    

 

Ques 52. ANS (B) Solution:    



 

Ques 53. ANS (A) Solution:    

 

Ques 54. ANS (C) Solution:    

महाराष्टर  तथा मध्य प्रदेि के कुल कृगर् के्षत्रफल में अन्तर (80+150+175) – 

(40+85+90) 405–215 = 190 (लाख हेके्टयर) 

Difference in total agricultural area of Maharashtra and 

Madhya Pradesh (80+150+175) – (40+85+90) 405–215 = 190 

(lakh hectares) 

Ques 55. ANS (C) Solution:    

2012 का उत्तर प्रदेि का कृगर् के्षत्र– 2012 का राजस्थान का कृगर् 143–26 

= 117 (लाख हेके्टयर) 

Agricultural area of Uttar Pradesh in 2012 – Agricultural area of 

Rajasthan in 2012 143–26 = 117 (lakh hectares) 

Ques 56. ANS (B) Solution:    

 

Ques 57. ANS (D) Solution:    

 

Ques 58. ANS (A) Solution:    

 

Ques 59. ANS (A) Solution:    



 

Ques 60. ANS (B) Solution:    

 

Ques 61. ANS (D) Solution:    

 

Ques 62. ANS (A) Solution:    

 

Ques 63. ANS (B) Solution:    

 

Ques 64. ANS (D) Solution:    

 

Ques 65. ANS (B) Solution:    

 

Ques 66. ANS (A) Solution:    

 

Ques 67. ANS (A) Solution:    



 

Ques 68. ANS (A) Solution:    

 

Ques 69. ANS (C) Solution:    

गदये गये चाटष का अध्ययन करने पर ज्ञात ह ता है गक वर्ष 1में स्ट र B की 

गबक्री= 14 लाख वर्ष 2 में स्ट र B की गबक्री= 12 लाख तथा वर्ष 3 में स्ट र B 

की गबक्री = 8 लाख अत: स्पष्ट है गक वर्ष 1 में स्ट र B की गबक्री 13 लाख रु. 

से अगधक है। 

On studying the given chart, it is found that sales of store B in 

year 1 = 14 lakhs, sales of store B in year 2 = 12 lakhs and sales 

of store B in year 3 = 8 lakhs, hence it is clear that in year 1 the 

store B's sales are Rs 13 lakh. More than. 

Ques 70. ANS (B) Solution:    

गदये गये चाटष के अनुसार रगववार क  Slot 1, Slot2, slot3 में ल ग ों की 

सोंख्या = 25 अत: रगववार के गदन वे अगधक सदस् ों का समाय जन नही ों कर 

सकते हैं। 

According to the given chart, number of people in Slot 1, Slot2, 

slot3 on Sunday = 25, hence they cannot accommodate more 

members on Sunday. 

Ques 71. ANS (B) Solution:    

गदये गये बार ग्राफ से स्पष्ट ह ता है गक कम्पनी XYZ द्वारा वर्ष 2009 में गनजी 

कम्प्यूटसष की गबक्री 20 लाख है। 

It is clear from the given bar graph that the sales of personal 

computers by Company XYZ in the year 2009 is 20 lakhs. 

Ques 72. ANS (B) Solution:    

गदये गये बार ग्राफ से स्पष्ट है गक वर्ष 2016 में सोंस्थान ABC से उत्तीर्ष छात्र ों 

की सोंख्या = 50 

It is clear from the given bar graph that the number of students 

passed from Institute ABC in the year 2016 = 50. 

Ques 73. ANS (C) Solution:    

गदये गये ग्राफ में 2004 का ग्राफ अन्य सभी वर्ों की तुलना में सबसे नीचे है। 

अत: इससे स्पर््ट है 2004 में पसषनल कम्प्यूटर की गबक्री सबसे कम 10 

लाख हुयी। 

In the given graph, the graph of 2004 is at the bottom 

compared to all other years. Hence, it is clear that in 2004 the 

sales of personal computers were the lowest at 10 lakhs. 

Ques 74. ANS (C) Solution:    

गदये गये बार ग्राफ से स्पष्ट है गक वर्ष 2006 में कों पनी XYZ ने पसषनल 

कम्प्यूटर ों की गबक्री 20 लाख यूगनट की थी। 

It is clear from the given bar graph that in the year 2006, 

company XYZ had sold 20 lakh units of personal computers. 

Ques 75. ANS (C) Solution:    

कों पनी XYZ द्वारा वर्ष 2014 में सवाषगधक पसषनल कों यूटर (80 लाख) बेचे गये 

हैं। 

Company XYZ has sold the maximum number of personal 

computers (80 lakh) in the year 2014. 

Ques 76. ANS (B) Solution:    

गदये गये चाटष के अनुसार `16 से `18 की कीमत की रेंज खुदरा गवके्रता 6 के 

अोंतगषत प्राप्त है। 

As per the given chart the price range of `16 to `18 is available 

under Retailer 6. 

Ques 77. ANS (D) Solution:    

गदये गये ग्राफ में फामष 5 व फामष 3 में भेड ों की सोंख्या समान है। 

In the given graph, the number of sheep in Farm 5 and Farm 3 

is same. 

Ques 78. ANS (C) Solution:    

वर्ष 2004-10 के दौरान सबसे अगधक गबक्री 2008 में हुई ज  50 लाख की 

गबक्री हुई थी। 

The highest sales during the year 2004-10 were in 2008 which 

were 50 lakhs. 

Ques 79. ANS (C) Solution:    

 

 



 

 

 

Ques 1. ANS (A) Solution:    

 

Ques 2. ANS (B) Solution:    

 

Ques 3. ANS (B) Solution:    

 

Ques 4. ANS (C) Solution:    

 

Ques 5. ANS (A) Solution:    

 

 

 

 

 

Ques 6. ANS (A) Solution:    

 

Ques 7. ANS (B) Solution:    

 

Ques 8. ANS (A) Solution:    

SOLUTION , Miscellaneous 



 

Ques 9. ANS (D) Solution:    

 

Ques 10. ANS (A) Solution:    

 

Ques 11. ANS (C) Solution:    

 

Ques 12. ANS (B) Solution:    

ररयायती मूल्य ज्ञात करने के लिए, आप छूट प्रलतशत को मूि मूल्य पर िागू 

कर सकते हैं: 

ररयायती मूल्य = मूि मूल्य - (छूट प्रलतशत * मूि मूल्य) 

ररयायती मूल्य = ₹250 - (20% * ₹250) 

सबसे पहिे, छूट के मूल्य की गणना करें : 

छूट = 0.20 * ₹250 = ₹50 

अब, ररयायती कीमत ज्ञात करने के लिए मूि कीमत से छूट घटाएँ: 

ररयायती मूल्य = ₹250 - ₹50 = ₹200 

तो, पुस्तक की ररयायती कीमत ₹200 है,  

To find the discounted price, you can apply the discount 

percentage to the original price: 

Discounted Price = Original Price - (Discount Percentage * 

Original Price) 

Discounted Price = ₹250 - (20% * ₹250) 

First, calculate the value of the discount: 

Discount = 0.20 * ₹250 = ₹50 

Now, subtract the discount from the original price to find the 

discounted price: 

Discounted Price = ₹250 - ₹50 = ₹200 

So, the discounted price of the book is ₹200,  

Ques 13. ANS (B) Solution:    



 

Ques 14. ANS (A) Solution:    

 

Ques 15. ANS (B) Solution:    

 

Ques 16. ANS (A) Solution:    

 

Ques 17. ANS (D) Solution:    

 

Ques 18. ANS (A) Solution:    

 

Ques 19. ANS (D) Solution:    

 

Ques 20. ANS (D) Solution:    



 

Ques 21. ANS (A) Solution:    

 

Ques 22. ANS (C) Solution:    

 

Ques 23. ANS (B) Solution:    

60% से कम अंक प्राप्त करने वािे छात्ो ंकी संख्या = कुि छात्ो ंकी संख्या 

- 60% अंक प्राप्त करने वािे छात्ो ंकी संख्या = 100-31 = 69 

Number of students scoring less than 60% marks = Total 

number of students – Number of students scoring 60% marks 

= 100-31 = 69 

Ques 24. ANS (D) Solution:    

पाससि की संख्या = 3x4 x 5 × 6 = 300 पैक करता है।  

3, 4, 5, 6 पैक करने में 1 बॉक्स छोड़ देता है। 

3 × 4 × 5 × 6 + 1 = 300 + 1 = 301 

Number of parcels = 3x4 x 5 × 6 = 300 packs. 

Packing 3, 4, 5, 6 leaves 1 box. 

3 × 4 × 5 × 6 + 1 = 300 + 1 = 301 

Ques 25. ANS (D) Solution:    

 

Ques 26. ANS (D) Solution:    

 

Ques 27. ANS (C) Solution:    

उपयुसक्त शे्रणी अभाज्य संख्याओ ंका युग्म समुच्चय हैं- 2,3), (3,5), (5,7), 

(7,11), (11,13), (13,17) अत: शे्रणी का अगिा समुच्चय(13, 17) है। 

The set of pairs of prime numbers in the above series are – 2,3), 

(3,5), (5,7), (7,11), (11,13), (13,17) hence the next set of the 

series is ( 13, 17) 

Ques 28. ANS (A) Solution:    

 

Ques 29. ANS (A) Solution:    

औसत गलत ज्ञात करने के लिए, आप सूत् का उपयोग कर सकते हैं: 

औसत गलत = कुि दूरी/कुि समय 

इस स्थिलत में, कार द्वारा तय की गई कुि दूरी 180 लकिोमीटर है, और कुि 

समय 3 घंटे है। 

औसत गलत = 180 लकमी/3 घंटे = 60 लकमी/घंटा 

तो, कार की औसत गलत 60 लकिोमीटर प्रलत घंटा है। 

To find the average speed, you can use the formula: 

Average Speed = Total Distance / Total Time 

In this case, the total distance the car travels is 180 kilometers, 

and the total time taken is 3 hours. 

Average Speed = 180 km / 3 hours = 60 km/h 

So, the average speed of the car is 60 kilometers per hour. 

Ques 30. ANS (B) Solution:    

बंदर पहिे सेकण्ड में 2 मी. पेड़ पर चढ़ता है परनु्त अगि सेकण्ड में 1 मी 

लिसि जाता है । अत: वह 2 सकेण्ड में 1 मी ही चढ़ पाता है। 

.:. वह 20 सेकेण्ड में 10 मी चढे़गा। 

और 21 वें सेकेण्ड में वह 12 मी चढ़ िेगा अथासत् वह शीर्स पर पहँच जाएगा। 

The monkey moves 2 m in the first second. Climbs a tree but 

slips 1 meter in the next second. Hence, he is able to climb only 

1 meter in 2 seconds. 

, He will climb 10 m in 20 seconds. 

And in the 21st second he will climb 12 m i.e. he will reach the 

top. 

Ques 31. ANS (B) Solution:    

 

Ques 32. ANS (A) Solution:    

लदए गए लचत् से स्पष्ट होता है लक– कुि '10' बचे्च केवि भूगोि का अध्ययन 

कर रहे हैं। इसी प्रकार कुि '6' बचे्च केवि भार्ा का अध्ययन कर रहे हैं। 



इसी प्रकार कुि '5' बचे्च भार्ा को सस्थिलित ना करते हए इलतहास एवं 

भूगोि का अध्ययन कर रहे हैं। जबलक कुि '4' बचे्च भूगोि को शालमि ना 

करते हए इलतहास एवं भार्ा का अध्ययन कर रहे हैं। 

It is clear from the given picture that a total of '10' children are 

studying only Geography. Similarly, a total of '6' children are 

studying only language. Similarly, a total of '5' children are 

studying history and geography without including language. 

Whereas a total of '4' children are studying history and 

language without including geography. 

Ques 33. ANS (A) Solution:    

 

Ques 34. ANS (B) Solution:    

 

 


